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Q:1. Dedine Oxidation in terms of electron? Give an example.

Ans: Oxidation is loss of electron by an atom or an ion e.g.

Zn ➡ Zn+2 + 2e-

Q:2. Define reduction in terms of gain of oxygen and hydrogen. Give an example.

Ans: Reduction is defined as addition of hydrogen and removal of oxygen during a chemical reaction.
Oxidation and reduction takes place simultaneously in a reaction. e.g. Reaction between zinc oxide and
carbon takes place by the removal of oxygen from zinc oxide. It is represented as :

2 ZnO + C ➡ 2 Zn + CO2

Q:3. What is difference between valency and Oxidation state?

Ans:

Valency Oxidation state
The combining capacity of an element with other
element is called valency.

The apparent charge assigned to an atom of an
element in a molecule or to an ion is called
oxidation number.

While assigning valency the sign is followed by the
number i.e. 2+

While assigning oxidation number the sign
precedes thè number i.e. +2.

For example, the valency of sodium is 1+. For example, the oxidation number of sodium is +1.

Q:4. Differentiate between oxidizing and reducing agents.

Ans.

Oxidizing agent Reducing agent
A specie that oxidizes a substance by taking
electrons from it.

A specie that reduces a substance by donating
electrons to it.

A substance that reduced itself by gaining electrons. A substance which is oxidized itself by losing
electrons.

A substance that reduces itself and oxidizes other. A substance that oxidizes itself and reduces other.
Examples are non-metals. Examples are metals.

Q:5. Differentiate between strong and weak electrolytes?

Ans: Pg no 121 from book.

Q:6. How is electroplating of tin on steel is carried out?

Ans: Tin is usuall electroplated on steel by placing the steel into a container containing a solution of tin salt.
The steel is connected to an electrical circuit, acting as cathode (-). While the other electrode made of tin
metal acts as anode (+). When an electrical current pass through the circuit, tin metal ions deposit on steel.



Q:7. Why is steel plated with nickel first before the electroplating of chromium?

Ans: The steel is usually electroplated first with nickel or copper then by chromium because it doesn't
adhere well on steel surface. Moreover it allows moisture to pass through it. The nickel provides adhesion
and then chromium deposited over the adhesive layer of nickel lasts longer.

Q:8. How can you explain that following reaction is oxidation in terms of increase of oxidation
number?

Al ➡ Al+3 + 3e-

Ans: Increase in oxidation number is oxidation. Oxidation number of Al increase from zero to +3 by losing
3e in an oxidation reaction as given below,

Al° ➡ Al+3 + 3e-

Q:9. How can you prove with an exsmple that conversion of anion to an atom is an oxidation process?

Ans: When anions (negatively charged ions) lose electron, they are converted into atoms. In this way they
are oxidized. e.g. conversion of chloride ion to atom is an oxidation process.

Cl- ➡ Cl° + e-

Q:10. Why does the anode carry negative charge in galvanic cell but positive charge in electrolytic cell?

Ans: In galvanic cell, electrons are lost by the atoms at anode plate which makes it electron rich. Therefore
it carries negative charge. In electrolytic cell, electrons are gained by cations from anode which makes it
electron deficient. Therefore, it carries positive charge.

Q:11. Where do the electrons flow from Zn electrode in Daniel’s cell?

Ans: The electrons flow from Zn-electrode through the external wire in a circuit to copper electrode in
Daniels cell.

Q:12. Why do electrodes get their names ‘anode' and ‘cathode' in galvanic cell?

Ans: In a galvanic cell, the electrode at which electrodes are lost by the atoms and oxidation takes place is
called ‘anode' while an electrode at which reduction takes place and electrons are gained by the atoms is
called ‘cathode' .

Q:13. What happens at the cathode in galvanic cell?

Ans: At the cathode reduction of Cu ions takes place. The electrons are gained by the copper ions of solution
and copper atoms deposit at the cathode.

Cu+2 + 2e- ➡ Cu

Q:14. Which solution is used as an electrolyte in Nelson's cell?

Ans: An aqueous solutio of sodium chloride (NaCl) is used as an electrolyte in Nelson's cell.

Q:15. Name the by-products produced in Nelson's cell?

Ans: Hydrogen and Chlorine gass are the by-products in the Nelson's cell.

Q:16. Why is galvanizing done?

Ans: The process of coating of thin layer of zinc on iron is called galvanizing. Advantage of galvanizing is
that zinc protects the iron against corrosion even after the coated surface is broken.

Q:17. Why is an iron grill painted ffrrquently?

Ans: Paint protects the iron from attack of moisture and oxygen.



Q:18. Why is Oxygen necessary for rusting?

Ans: The loss of electron damages the iron, the free electrons move through iron sheet, untill they reach to a
region of relatively high oxygen concentration near the surface surrounded by water layer. This region acts
as cathode and electrons reduce the oxygen molecule in the presence of H+ ions.

O2+ 4H+ + 4e- ➡ 2H2O

Q:19. In electroplating of chromium, which salt is used as an electrolyte?

Ans: Chromium sulphate is used as an electrolyte in electroplating of chromium.

Q:20. Write the reodox reaction taking place during the electroplating of chromium?

Ans: Pg no 131 from the book

Q:21. In electroplating of silver from where Ag+ ions come and where they deposit?

Ans: When the current is passed through the cell, the Ag anode dissolves to produce Ag+ ions , that migrate
towards the cathode.

Q:22. What is the nature of electrode used in electroplating of chromium?

Ans: Anode is made of antimonial lead while the object to be electroplated acts as a cathode.

EXERCISE
Multiple Choice Questions

Put ✓ on the correct answer
1. spotaneous chemical reactions take place in.
(a) Electrolytic cell
(b) Galvanic cell
(c) Nelson's cell
(d) Downs cell
2. formation of water from hydrogen and oxygen
(a) Redox reaction
(b) Acid-base reaction
(c) Neutralization
(d) Decomposition
3. Which one of the follow is not an electrolytic
cell
(a) Downs cell
(b) Galvanic cell
(c) Nelson's cell
(d) Both a and c
4. The oxidation number of chromium in K,Cr0, is
(a) +2
b) +6
(c) +7
(d) +14
5. Which one of the following is not an electrolyte?
a) Sugar solution✓
(b) Sulphuric acid solution
(c)Lime solution
(d) Sodium chloride solution
6. The most common example of corrosion is:



(a) Chemical decay
(b) Rusting of iron✓
(c) Rusting of aluminium
(d) Rusting of tin
7. Nelson's cell is used to prepare caustic soda along with gases. Which of the following gas is
produced at cathode:
(a) Cl
(b) H2
(C)O3
(d) O2
8. During the formation of water from hydrogen and oxygen, which of the
following does not occur:
(a) Hydrogen has oxidized
(b) Oxygen has reduced
(c) Oxygen gains electrons
(d) Hydrogen behaves as oxidizing agent ✓

9.The formula of rust is:
a) Fe2O3.H20
(b) FeOs
(c) Fe(OH)2.nH20
(d) Fe(OH)
10. In the redox reaction between Zn and HCl, the oxidizing agent is
(a) Zn
(b) H
(c) CI
(d) H2
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Biology
Chapter#9
Transport
Short Questions
Q.1. What is ABO blood group system?
Who did discover it?
Ans. It is the most important blood group system in humans, it was discovered by the
Austrian scientist Karl Landsteiner in 1900. He found four different blood groups (blood
types). He was awarded the Nobel Prize in Medicine for his work. There are four different
blood groups in this system. These groups are distinct from each other on the basis of
specific antigens (antigen A and B). These antigens are present on the surface of RBC's.
After birth, two types of antibodies i.e. anti-A and anti-B antibodies appear in the blood of
individuals. These antibodies are present according to the absence of corresponding antigen.
Q.2. What is agglutination?
Ans. Clumping of blood cells during blood transfusion is called agglutination. If
agglutination occurs, the clumped cells cannot pass through capillaries.
Q.3. What are agranulocytes?
Ans. These are types of white blood cells. They have clear cytoplasm and include monocytes
(produce macrophages which engulf germs) and B and T lymphocytes (produce antibodies
and kill germs).
Q.4. What is albumin?
Ans. It is an important protein present in blood which maintains the water balance of blood.
Q.5. What is Angina Pectoris?
Ans. Angina Pectoris means "Chest Pain'". It is not as severe as heart attack. The pain may
occur in heart and often in left arm and shoulder. It is a warning sign that blood supply to
heart muscies is not sufficient but shortage is not enough to cause death.
Q.6. What are Anti-A antibodies and Anti-B antibodies?
Ans. Antibodies are proteinacious substances produced by lymphocytes. It is a type of white
blood cells. These are produced in response to antigens and then pass to plasma and lymph.
They are a part of body's immune system.

 After birth, two types of antibodies i.e., anti-A and anti-B antibodies appear in the blood
 serum of individuals. These antibodies are present according to the absence of corTesponding
 antigen.
 In persons with blood group A, antigen A is present and thcir blood contains anti-B
 antibodies.
 In persons with blood group B, antigen B is present. So their blood will contain anti-A
 antibody.

Q.7. What are antigens? Write about antigen A & B?
Ans. An antigen is a protcinacious molecule that can stimulate an immune response. There
are two types of antigens.
Antigen A: A person having antigen A has blood group A.
Antigen B: A person having antigen B has blood group B.
A person having both antigens has blood group AB and person having none of the A and
B has blood group O.
Q.8. What is anti-Rh antibody?
Ans. If an Rh-negative person receives Rh-positive blood, he/she will produce anti-Rh
antibodies against Rh factors.
0.9. What are aorta and aortic arch?
Ans. The oxygenated blood leaves the left ventricle of the heart. This blood is pumped into
aorta, aorta is largest artery. The aorta ascends and it forms an aortic arch. The arch curves
left and descends inferiorly into the body.
Q.10. Define artery. Which blood does it carry?
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Ans. The blood vessels carry blood away lrom the heart are called arteries. Ail arteries
except puimonary arteries carry oxygenated blood. Their structures are well adapted for thcir
function.
Q.11. What are atherosclerosis and arteriosclerosis?
Ans. The narrowing of the arterics is called atherosclerosis. Hardening of arterics is called
arteriosclerosis.

Q.12. Define atríal systole.
Ans. When both atria contract and pump blood towards vetricles, this period in cardiac
cycle is called atrial systole.
Q.13. What is an atrium?
Ans. The upper thin-walled chambers of heart are called left and right atria (singular
atrium).0r
Q.14. Define Basophils.
Ans. One of the WBCs is granulocytes. Basophils is a granulocytes which kelp in
preventing blood from clotting.
Q.15. What are tricuspid and bicuspid valves?
Ans. There is opening between the right atrium and the right ventricle. It is guarded by a
valve called tricuspid valve. It has three flaps. An opening is also present between the left
atrium and the left ventricle. It is guarded by a valve called bicuspid valve. The walls of left
ventricle are the thickest. These are about a half - inch thick. They have enough force to
push blood into the body.
Q.16. Define blood group systems.
Ans. Blood group system is the classification of blood on the basis of presence or absence of
antigens on the surface of red blood cells. An antigen is a molecule that can stimulate an
immune response for antibody production. These antigens may be proteins or
poly saccharides. Their nature depends on the blood group system.
Q.17. Define capillary. Give its functions?
Ans. The blood vessels composed of single layer of cells which are used for exchange of
materials are called capillarics. Capillaries are the smallest blood vessels. These are formed
by the divisions of arterioles. The exchange of materials between blood and tissue fluid is
carried out through the capillaries.
Q.18. Define cardiac cycle and heart beat?
Ans. The alternating relaxations and contractions make up the cardiac cycle. Onc complete
cardiac cycle makes one heartbeat. Heart relaxes and its chambers fill with blood. It contracts
and its chambers propels the blood out of them.
Q.19, What is cardiovascular system?
Ans. Human blood circulatory system is also called cardiovascular system. Like other
vertebrates, humans have a closed circulatory system (meaning that blood never leaves the
network of arteries, veins and capillaries).
The main components of the human blood circulatory system are blood, heart and blood
vessels.
Q.20. Define cohesion tension theory.
Ans. According to this theory, the mechanism by which water (along with dissolved
materials) is carried upward through the xylem is called transpirational pull. Transpiration
creates a pressure difference. It pulls water and salts up from the roots,
Q.21. What is coronary circulation?
Ans. From the basc of aorta, coronary arteries originates and supply blood to heart muscles.
Coronary vein collect blood from heart muscles. This circulation is called coronary
circulation.
Q.22. What is Cortex?
Ans. External to endodermis in the root and stem, there is a broad zone of cortex. It consists
of large and thin- walled cells
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Q.23. Define Diastole.
Ans. When atria and ventricles of heart relax and blood is filled in atria. This period is
called cardiac diastole.
Q.24. What is Dorsal aorta?
Ans. As aorta passes down through thorax, it becomes dorsal aorta. It gives off many
branches which supply oxygenated blood to different body parts.
Q.25. Define Endodermis and Pericycle.
Ans. In the root and stem, outside the conducting tissues, there is a narrow layer of thin
walled cells, the pericycle. A single layer of cells i.e. endodermis surrounds this pericycle
Q.26. What are thrombus and embolus?
Ans. Thrombus:
Multiple deposits in arterics called plaque. Plaques can form blood clots called thrombus.
Embolus:
If a thrombus dislodges and becomes free floating, it is Called embolus.
Q.27. What is the structure of red blood cells (RBCs) or Erythrocytes?
Ans. These are most numerous blood cells. These cells have nucleus when formed. In the
RBCs of mammals, the nucleus, mitochondria, endoplasmic reticulum etc., are lost. These
are lost when they mature before they enter blood. About 95% of the cytoplasm of red blood
cells is filled with haemoglobin. It transports O, and small amounts of COz. The remaining
5% consists of enzymes, salts and other protcins. These cells once mature, do not divide.
Q.28. What is Fibrin?
Ans. Fibrin or cholesterol is fatty material when accumulated in the arteries causcd
narrowing of arteries or artherosclerosis
Q.29. Which proteins do present in plasma? What is their role?
Ans. Proteins constitute 7-9 % by weight of the plasma. The proteins which are present in
plasma:
Antibodies: Antibodies are produced by lymphocytes. It is a type of white blood cells.
These are produced in response to antigens and then passed to plasma and lymph. They are a
purt of body's immune system.
(i) Fibrinogen: Fibrinogen is a plasma protein. It takes part in the blood clotting process.
Q.30. What are granulocytes?
Ans. Granulocyte is a type of WBCs and have glanular cytoplasm. These include:
Neutrophils (destroy small particles by phagocyosis)
(vi) Eosinophils: (break inflammatory substances and kill parasites)
(vi) Basophils, prevent blood clotting
Q.31. What are guard cells?
Ans. Guard cells are bean shaped cells in the lower epidermis of the leaf which control the
opening and closing of stomata.
Q.32. What is Haemoglobin?
Ans. About 95% of the cytoplasm of RBCs is filled with a protcin called haemoglobin
which transports O and small amounts of CO. It is red in colour and red colour of blood is
due to haemoglobin.
Q.33. What are heart rate and pulse rate?
Ans. The number of times the heart beats per minute is called heart rate. At rest, heart rate
is 60-90 times, 70 is average. Thc heart rate can be measured by fecling the pulse. Pulse is
the rhythmic expansion and contraction of an arterv as blood is forced through it by the
regular contractions of the heart. The pulse can be felt at the areas where the arteries are
close to the skin. Its examples are wrist, neck, groin or top of the foot.
Q.34. What are lenticels?
Ans. Lenticels are special openings in the stems of some plants. It helps in transpiration.
Q.35. Define Leucocytes or white blood cells?
Ans. These are colourless. They are granular or agranular, contain large nucleus larger in
size than RBCs. Their average number is 7500/mm Of blood. They play role in body's
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defence by engulting small particles, rclease anticougulants or produce antibodies.
Q.36. What is leukaemia (blood cancer)?
Ans. The uncontrolled production of cells is called cancer. In leukaemia, a great number of
immature and abnormal white blood cells appear in the bone marrow. They are also often
produced in the spleen and liver. This is caused by ia cancerous mutation in bone marrow
cells. It results in production of uncontrolled white blood cells. The mutated bone marrow
cells spread to other parts of the body. So white blood cells start producing in many other
organs. These white blood cells are not completely differentiatcd. Thereforc, they are
defective.
Q.37. What are lymphocytes?
Ans. Lymphocytes are agranulocytes. Two types are B and T lymphocytes which produce
antibodics and kill germs.
Q.38. Define Megakaryocytes.
Ans. Platelets are not cells, but are fragments of large cells of bone marrow called
megakaryocytes. They do not have any nucleus and any pigment and help in blood clotting.
Q.39. Define Monocytes.
Ans. Monocytes are agranulocytes which produce macrophages which engulf germs.
Q.40. Define neutrophils.
Ans. Neutrophils are granulocytes which destroy small particles by phagocytosis.
Q.41. What is myocardial infarction?
Ans. The term myocardial infarction is derived from myocardium (the heart muscle) and
infarction (tissue death). It is more commonly known as a heart attack. It occurs because of
(1) Interruption in the blood supply to the heart muscles.
Q.42. What is pericardium?
Ans. The hecart is enclosed in a sac called pericardium. A pericardial fluid is present between
the pericardium and the heart walls. It reduces friction between the pericardium and heart
during contractions.
Q.43. What are Xylem and Phloem?
Ans. Xylem: Xylem tissue is responsible for the transport of water and dissolved substances
from roots to aerial parts. It consists of vesscl elements and tracheids.
Phloem: Phloem tissue is responsible for the conduction of dissolved organic matter (food)
between different parts of plant body. It consists of sicve tube cells and companion cell
Q.44. What do you know about platelets or Thrombocytes?
Ans. They are not cells but are fragments of large cells of bone marrow. Platelets help in
conversion of fibrinogen into fibrin. Fibrinogen is a soluble plusma protein. The fibrin
threads entangle with the red blood cells and other platclets in the area of damaged tissue.
They ultimately form a blood clot.
Q.45. What is plasma?
Ans. Plasma is primarily water in which proteins, salts, ions, metabolites and wastes are
dissolved. Water constitutes about 90-92% of plasma. 8-10% of plasma are dissolved
substances.
Q.46. What are pulmonary, arteries?
Ans. The large pulmonary trunk emerges from the right ventricle. It divides into right and
left pulmonary arteries. These arteries carry the deoxygenated blood to the right and the left
lungs.
Q.47. What is pulmonary pathway or circuit?
Ans. This pathway caries deoxygenated blood from the heart to the lungs. It brings
oxygenated blood from lungs to the left atrium of heart. It has lower pressure than systemic
circulation. It gives sufficient time for gaseous exchange to occur in the lungs:
Q.48. Define Pulmonary Veins.
Ans. Veins from lungs bring the oxygenated blood to the left atrium of heart are called
pulmonary veins.
Q.49. What is Pulse?
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Ans. Pulse is the rhythmic expansion and contraction of an artery as blood is torced through
it by the regular contractions of heart.
Q.50. What is Rh Blood group system? Who did discover it?
Ans. Karl Landsteiner in 1930's discovered the Rh-blood group system. In this system,
there are two blood groups i.e. Rh' and Rh. They are distinct from cach other on the basis of
antigens caled Rh factor. Rh factor was lirst discovered in Rhesus monkey. It is present on
the surface of RBCs. A person having Rh factor has blood group Rh-positive while a person
not having Rh factor has blood group Rh-negative.
Q.51. What is the importance of root hairs?
Ans. Root hairs provide large surface area for absorption. They grow out into the spaces
between soil particles where they are in direct contact with the water. The cytoplasm of the
root hairs has higher concentration of salt than the soil water. Therefore, water moves by
osmosis into the root hairs. Salts also enter root hairs by diffusion or active transport.
Q.52. What are semilunar valve?
Ans. There are two types of semilunar valves
(a) Pulmonary Semilunar Valve
At the base of pulmonary trunk, pulmonary semilunar valve is present which prevents the
back flow of blood from pulmonary trunk to right ventricle.
(b) Aortie Semilunar Valve
At the base of aorta, aortic semilunar valve is present which prevents the back flow of
blood from aorta to left ventricle.
Q.53. What is stoma?
Ans. Stomata (singular: stoma) are minute openings in the lower epidermis of leaves guarded
by guard cels. Stomata helps in exchange of gases.
Q.54. What is systematic circulation?
Ans. The pathway on which oxygenated blood is carried from heart to body tissues and in
return deoxygenated blood is carried from body tissues to heart is called systemic circulation.
Q.55. Define transpiration. How does it take place?
Ans. The loss of water from surface of plant through evaporation is called transpiration.
This loss may occur through stomata in leaves. It may occur through the cuticle present on
leaf-epidermis. It also occurs through special openings called lenticels. Lenticels are present
in the stems of some plants.
O.56. What is Thalassaemia? Who did discover it?

Q.57. What is transpirational pull?
Ans. The pulling force created by the transpiration of water is called transpirational pull. It
also causes water to move transversely (from root epidermis to cortex and pericycle).
Q.58. Define veins. What blood do they carry?
Ans. A blood vessel that carries blood toward the heart is called vein. All veins except
pulmonary veins, carry deoxygenated blood. Veins are also well-adapted to their function.
The walls of vein, are composed of the same three layers like artery wall.
Q.59. What are superior and inferior vena cava?
Ans. Superior vena cava: Different veins from the head, shoulders and arms join together
to form superior vena cava.
Inferior vena cava: Different veins from posterior part of body join to form inferior vena
cava.
Q.60. Define ventricles.
Ans. The lower thick walled chambers of the human heart are called left and right
ventricles. Left ventricle is the largest and strongest chamber in heart.
Q.61. What is atrial and ventricular systole?
Ans. When both atria contract and pump the blood towards ventricles, this period in cardiac
cycle is called atrial systole. Atrial systole takes 0.1 seconds. Now both ventricles contract.
They pump the blood towards body and lungs. The period of ventricular contraction is called
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ventricular systole. Ventricular systole lasts about 0.3 seconds.
Q.62. Define venule,
Ans. In tissues, capillaries join to form small venules, which join to form veins.
Q.63. What do you know about wilting?
Ans. Transpiration maybe a harmful process in the sense that duringg the conditions of
drought, loss of water from plant results in serious desiccation, wilting and often death.
Q.64. What is importance of water for plants?
Ans. Water is vital to plant life. It is necessary for photosynthesis and turgor. Much of the
cellular activities occur in the presence of water. Water also regulates internal temperature of
the plant.

Q.65. What are the functions of Root?
Ans. Roots perform vital functions
1. Roots anchor the plant in the soil.
2. They absorb water and salts from the soil.
3. They provide conducting tissues. These tissues distribute these substances to the tissues of
the stem.
Q.66. How do stomata open and close?
Ans. The guard cells of stomata absorb water and become turgid, their margins Curve apart.
The stoma between them opens. When guard cells lose water, they become flaccid and
stomata are closed.
Q.67. What is the role of K" in opening of stomata?
Ans. The blue wave lengths of day light allows K+ to flow into guard cells from the
surrounding epidermal cells. Water passively follows these ions into guard cells. It increases
their turgidity and open stoma.
Q.68. How temperature effects transpiration?
Ans. High temperature increases the kinetic energy of water molecules. In this way it
increases the rate of transpiration. The rate of transpiration doubles with every rise of 10'C in
temperature. But very high temperature 40-45°C causes closure of stomata
Q.69. What is the effect of humidity on transpiration?
Ans. Water vapours diffuse quickly in dry air. Water evaporates from the surface of
mesophyll cells into leaf air spaces. They then move from air spaces to outside. This
increases the rate of transpiration. In humid air, the rate of the diffusion of water vapours is
reduced. As the air is already saturated with water vapours, thus the rate of transpiration is
low.
Q.70. What is the harmful effects of transpiration?
Ans. Transpiration requires wet surfaces from which evaporation can occur. But water is lost
from the plant during the drought conditions. It results in wilting, serious desiccation. It often
causes death of the plant in such conditions. This is the reason plant closes stomata at high
temperatures. It reduces transpiration rate to prevent wilting.
Q.71. Differentiate source from sink.
Ans. The source is exporting organs It may be a mature leaf or storage organ. Sinks are the
areas of active metabolism or storage. For example, roots, tubers, developing fruits and
leaves, and the growing regions.
Q.72. Define blood.
Ans. Blood is a specialized form of connective tissue that is composed of a liquid called
blood plasma and blood cells suspended within the plasma. The weight of blood in our body
is about of our body. The average adult has a blood volume of 5 litres
Q.73. Which salts do present in plasma?
Ans. The salts make up 0.9% of the plasma by weight. More than two third of this amount
is sodium chloride (the table salt). Salts of bicarbonate are also present in considerable
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amounts. Ca, Mg, Cu, K and Zn are found in trace amounts.
Q.74. Which nitrogenous wastes do present in plasma?
Ans. Plasma also contains nitrogenous waste products. These wastes are formed as a result
of cellular metabolism. These are urea and salts of urie acid.
Q.75. Where are RBC formed and destroyed?
Ans. They are formed in liver and spleen in the embryonic and foetal life. In adults, they are
formed in the red bone marrow of short and flat bone. The average life span of a red blood
cell is four months (120 days). After this, they break down in liver and spleen by
phagocytosis.
Q.76. Write three functions of blood.
Ans. Blood is the major agent for the transport of materials in the body, transports nutrients,
water, salts and waste products. It also transports hormones from the endocrine tissues to the
target sites. Blood transports respiratory gases O2 and CO2. Blood helps in body's defense
against diseases.

Q.77. What is role of blood in homeostasis?
Ans. Blood maintains body temperature and concentration of water and salts. Blood is also
esponsible for maintaining the amounts of chemicals in the body constant or nearly constant
levels. It thus helps in homeostasis.
Q.78. What is the treatment of Thalassaemia?
Ans. The blood of these patients is replaced regularly with normal blood. It can also be
Cured by bone marrow transplant. But it is very expensive and does not give 100% cure rate.
The world celebrates the international Thalassaemia Day on 8 of May.
Q.79. What are blood group AB and 0?
Ans. A person having both antigens A and B has blood group AB. Both antigens are present
in it. So their blood seum will contain no antibody. A person having none of the A and B
antigens has blood group O. So their blood serum will contain both anti A and anti B
antibodies.
Q.80. What is the process of cross matching?
Ans. During blood transfusion process, in order to avoid agglutination, blood sample of
donor and recipient's blood are cross matched for compatibility. Antibodies of the recipient's
blood may destroy the coresponding antigen containing RBCs of the donor. Similarly, the
antibodies of the donor's blood may destroy the antigen containing RBCs of the recipient.
Q.81. What are universal donors and universal recipients?
Ans. Individuals with blood group O are called universal donors. They can donate blood to
the recipients of every other blood group. Individuals with blood group AB are called
universal recipients. They can receive transfusions from the donors of every other blood
group.
Q.82. What is human heart?
Ans. The heart is a muscular organ. It contracts repeatedly. It is responsible for pumping
blood through the blood vessels. Cardiac means related to the heart. The bulk of the walls of
the heart chambers is made of cardiac branched striated cells. Each cell has single nucleus.
These are capable of strong contraction and relaxation making the heart " a pumping organ."
Q.83. How heart works as double pump?
Ans. Human heart works as a double pump. It receives deoxygenated (with less oxygen)
blood from body. It then pumps it to the lungs. At the same time, it receives oxygenated
(with more oxygen) blood from lungs. It pumps it to all the body. The deoxygenated and
oxygenated bloods are separated inside heart chambers.
Q.84. How is sound produced during heartbeat?
Ans. The ventricles contract the tricuspid and bicuspid valves close. It produces sound of
lubb. Now ventricles relax and the semilunar valves close. It produces sound dubb. Lubb -
dubb can be heard with the help of a stethoscope.
Q.85. What layers are present in the artery?
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Ans. The outermost layer of artery is composed of connective tissue. The middle layer is
made up of smooth muscles and elastic tissue. The innermost layer is made up of mainly
endothelial cells. The hollow intermal cavity in which the blood flows is called the lumen.
Q.86. Which scientists did play role in the discovery of blood circulation in blood
vessels?
Ans. Two important scientists gave the knowledge of the blood circulatory system. These
were:
Ibn-e-Nafees (1210-1286): He was a physician. He was the first scientists who described
the pathway of blood circulation.
William Harvey (1578-1651): He discovered the pumping action of heart. He also
described the pathway of blood in major arteries and veins.
Q.87. What is hepatic portal system?
Ans. Many veins come from stomach, spleen, pancreas and intestine opens into hepatic
portal vein. It carries the blood to the liver. Hepatic vein carry blood from liver. It opens into
inferior vena cava.
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Chapter#7
PROPERTIES OF MATTER
Short question related to excercise
Write short answers of the following questions:
7.1 How kinetic molecular model of matter is helpful in differentiating various states of
matter?
Kinetic molecular model is used to explain three states of matter solid, liquid and gas.
Solid;In solids molecules are very close to one another, they posses greater attractive forces.
Liquids; Distance between molecules is greater as compared to solids.
Gases: In gases distance between molecules is too much.
7.2 What is meant by density? What is its SI unit?
Density: Density of a substance is defined as the mass per unit volume.
Formula: Density=Mass/Volume
d=m/v
Unit: The SI unit of density is kilogram per cubic metre (kgm-3).
7.3 Does there exist a fourth state of matter? What is that?
Yes, there exists a fourth state of matter that is called plasma.
At very high temperature, the matter assumes the state of ions and electrons this is called
plasma.
7.4.Can we use a hydrometer to measure the density of milk?
Hydrometer is a device which is used to measure the density of fluid.as the hydrometer is
a glass tube with a scale marked on its stem and heavy weight in the bottom. It is partially



immersed in the milk that is also a fluid, the density of which is to be measured, hence we
can use hydrometer to measure the density of milk.
7.5.Show that atmosphere exerts pressure.
Ans: Experiment: Boil an empty tin, half-filled with water, cap the tin. Let it col under tap
water. The tin will get crumpled as the water cool down. As the steam condense, the
pressure inside the metal tin decreases, the external atmospheric pressure that is higher,
crushes the tin.
7.6 Define the term pressure.
Ans: Pressure: The force acting normally on unit area at the surface of a body is called
pressure.
Formula
Pressure=Force/Area
P=F/A
Unit; In SI , the unit of pressure is Newton per square metre ( Nm-2) or Pascal (Pa)
Physical quantity: It is a scalar quantity.
7.7It is easy to remove air from a balloon but it is very difficult to remove air from a
glass bottle. Why?
Ans: It is very difficult to remove air from a glass bottle because air pressure in the bottle is
less than atmospheric pressure but it is easy to remove air from a balloon due to lower
external pressure.
7.8. Why water is not suitable to be used in a barometer?
Ans: Mercury is 13.6 time denser than water. Atmospheric pressure can hold vertical column
of water about 13.6 times the height of mercury column at a place. Thus, at a sea level,
vertical height of water column would be 0.76 X 13.6 = 10.4m. Thus, a glass tube more
than 10m long is required to make a water barometer.
7.9 What is barometer?
Ans: Barometer: The instrument that measures atmospheric pressure is called barometer. One
of the simple barometer is mercury barometer.
7.10. What makes a sucker pressed on a smooth wall sticks to it?
Ans: Air pressure makes sucker pressed on a smooth wall stick to it.
7.11. What does it mean when the atmospheric pressure at a place fall suddenly?
Ans: A sudden fall ion atmospheric pressure often followed by a storm, rain and typhoon to
occur in few hours time that cause internal energy of air decreases and coldness is
produced.
7.12. Why does the atmospheric pressure vary with height?
Ans: Density of air is not uniform in the atmosphere. It decrease continuously as we go up.
Hence atmospheric pressure is also decreased.
7.14. Explain the working of hydraulic press.
Ans: Hydraulic press works on the principle of Pascal's law and consists of two cylinders
fitted with pistons of different cross sectional area.
7.15 State Pascal's law.
Ans: Pascal's law: Pressure applied at any point of a liquid enclosed in a container is
transmitted without loss to all other parts of liquid.
7.16 What is meant by elasticity?
Ans: Elasticity: Elasticity is the property of matter by virtue of which matter resists any force
Which tries to change its length , shape or volume
7.17. What is up thrust? Explain the principle of floatation.
Ans: Up thrust: The fluids (liquids) exert force in the upward direction when some object is
immersed into them. This is called upward thrust.
Principle of floatation: The weight of fluid displaced is equal to weight of floating
object inside liquid. Then object will into sink and keep floating. It is called principle of
floatation.
7.18. State Archimedes principle:
Ans: Archimedes principle: When an object is whole or partially immersed in a liquid, an
upthrust force acts on it equal to the weight of the liquid displaced. This is known as



Archimedes principle.
7.19. Explain how a submarine moves up the water surface and down into water?
Ans:If the submarine is not filled with sea water then, its weight is less than upward thrust. So
that is floats on surface of sea water. But when, it is filled with water. Then its weight
becomes larger as compared with upward thrust of water then it sinks into water.
7.20. What is Hooke's law? What is meant by elastic limit?
Ans: Hooke's law: The strain produced in a body by the stress applied to it is directly
proportional to the stress within the elastic limit of the body is called Hooke's law.
Stress ∞ Strain
Elastic limit; it can be define as a limit within which a body recovers its original length , volume or shape
after the deforming force is removed.
7.13 changes are expected in weather the barometer reading shows a sudden
increase?
Ans: If the barometer reading shows a sudden increase or a rapid increase in atmospheric
pressure, means that it will soon be followed by a decrease in the atmospheric pressure
indicating poor weather ahead.
limit:
7.21. Why does a piece of stone sink in water but a ship with a huge weight floats?
Ans: Ships and boats float on water. It is because the weight of an equal volume of water is
greater than the weight of ships and boats. Ships have less density and large volume.
A stone sinks in water. It is because the weight of an equal volume of water is smaller
than the weight of stone, Stone has high density and small volume.
7.22. Take a rubber band. Construct a balance of your own using a rubber band. Check
its accuracy by weighing various objects.
Ans: Take a rubber band, hang it with a hook. Then pointer is attached at the lower end of it
with a scale in front of pointer. Different known weights are suspended. One by one, at
lower end of this rubber band. The pointer position on the scale is marked for each
different known weight suspended. It is called calibration of scale for weight
measurement. This makes a balance for weight measurement.

Chapter # 8
Thermal properties of Matter
Short Questions
Exercise
Write short answers of the following questions:
8.1Why does heat flow from hot body to cold body?
Ans:Heat flows from hot body to cold body to attain the condition of thermal equilibrium.

8.2.What is meant by internal energy of a body?
internal energy of a body: The sum of kinetic energy and potential energy associated
with the atoms, molecules and particles of a body is called its internal energy.

8.3 Define the terms heat and temperature.
Heat: Heat is the form of energy that is transferred from one body to another in thermal
contact with each other as a result of the difference of temperature between them.
Temperature: The temperature fa body is the degree of hotness or coldness of a body"

8.4.How does heating affect the motion of molecules of a gas?
By heating the gas, its molecules get high kinetic energy and start to collide more
randomly and motion of gas molecules is increased by heating. So, pressure and volume
of gas molecules increase by heating.



8.5Explain the volumetric thermal expansion
Volumetric thermal expansion; It is usually expressed as a fractional change in volume
per unit temperature change.
V=V◦ (1+β∆T)

8.6 What is thermometer? Why mercury is preferred as thermometric substance?
Ans: Thermometer: A thermometer 1s a device which is used to measure the temperature of a
body. Mercury is preferred as a thermometric substance due to following properties.

Mercury as thermometric substance:
 It is easily visible.
 It has uniform thermal expansion.
 it has low freezing point and high boiling point.
 it has a small specific heat capacity

8.7 Define specific heat. How would you find the specific heat of a solid?
Specific heat:"The specific heat of a substance is the amount of heat required to raise the
temperature of 1kg mass of that substance through 1K .
Specific heat of any substance can be found out by using following formula:
C=∆Q/m∆T
C is the specific heat capacity.
∆Q is the amount of heat absorbed by the body.
M is the mass of the body.
∆T is the change of temperature.

8.8. Define latent heat of vaporization.
Ans: Latent heat of vaporization:"The quantity of heat that changes unit mass of a liquid
completely into gas at its boiling point without any change in its temperature is called its
latent heat of vaporization denoted by Hv".
Formula: Hv =∆ Qv/m
Unit: Jkg-1

8.9.Define and explain latent heat of fusion.
Ans: Latent heat of fusion :Latent heat of fusion is the amount of thermal energy, which
must be absorbed for I mole of substance to change its state from solid to liquid without
change in temperature, is called latent heat of fusion.
Unit: Its SI unit is Jkg-1
Formula :Hf=∆Qf/m

8.10. What is meant by evaporation? On what factors the evaporation of a liquid
depends? Explain how cooling is produced by evaporation.
Ans: Evaporation: Evaporation is escaping out of fast moving water molecules from the
Surface of a liquid without heating.
F'actors:

 Temperature
 Surface area
 Wind
 Nature of liquid

Cooling by evaporation: During evaporation molecules having greater kinetic energ8y
escape out from the surface of a liquid, while the molecules having lower kinetic energies
are left behind. In this way evaporation produces cooling by lowering the average kinetic
energy and the temperature of molecules of a liquid.



Chapter#9
Transfer of Heat
Short Questions
Write short answers of the following questions:

9.1. Why metals are good conductors of heat?
Metals are good conductors of heat because they possess the freely moving electrons.
9.2 Explain why?
(a) A metal feels colder to touch than wood kept in a cold place!
(b) Land breeze blows from land towards sea!
(c) Double walled glass vessel is used in thermos flask!
(d) Deserts soon get hot during the day and soon get cold after sunset!
Ans:
a. A metal feels colder to touch than wood because it is a good conductor due to free
electrons. So it cools down more rapidly as compared to wood. Wood is an example of
insulator.
b. At night, the land cools faster than the sea. Therefore, air above the sea is warmer,
rises up and colder air from the land begins to move towards the sea.
C. Double walled glass vessel is used in thermos flask because double walled glass vessel
has air between two glass walls that provide insulation.
d. Deserts soon get hot during the day and soon get cold after sunset because sand in the
deserts has very low value of specific heat. It cools down and warms up fastly.



9.3 Why transfer of heat in fluids takes places by convection?
Transfer of heat in fluids takes place by convection because fluids are not good conductor
of heat. As, molecules of fluids are able to move freely, hence heat transfer takes place by
convection.
9.4.Why conduction of heat does not take place in gases?
Conduction of heat does not take place in gases because gases are bad conductor of heat.
9.5.What measures do you suggest to conserve energy in houses?
Measures to Conserve energy
i. Hot water tanks are insulated by plastic or foam lagging.
ii. The bottoms of cooking pots are made black to increase the absorption of heat from
fire
iii. Solar energy is used by solar panel in houses. The solar energy is converted into
electric energy.
Iv. Switch off the electric appliance when these are not used by humans.
v. Energy n houses can be conserved by using energy savers instead of bulbs.

9.6.What is meant by convection current
Ans: Convection current: Hot air rises up creating gap which in filled by colder air, this air
also gets warm and rises up. That is how, convection currents are produced.
9.7 How does heat reach us from the sun?
Heat reaches us from the sun through radiation process.
9.8 Suggest a simple activity to show convection of heat in gases not given in the book.
An example of convection in daily life is when we use a fire place of heat in our home, as
the fire heats up the air in front of it, the hot air rises up as it is less dense and than in turn
pushes the cool air down so that it is heated and then rises, this motion is called
convection currents and in the reaction fire place air effective to heat us.

9.9. How various surfaces can be compared by a Leslie cube?
Ans: The rate at which various surface absorb heat is different from one another. So, on the
basis of their ability to absorb heat through different surfaces can be compared by
Leslie's cube.

9,10. Explain the impact of green house effect in global warming
Ans: During the recent years, the percentage of carbon dioxide has been increased
considerably. This has caused an increase in the average temperature of the earth by
trapping more heat due to greenhouse effect. This phenomenon is known as global
warming This is serious implications for global climate.

9.11. What is greenhouse effect?
Ans: Greenhouse effect: Greenhouse effect is the result of infrared light not being able to
transmit it back through the atmosphere into space after it has been radiated to the earth
from the sun.
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Unit no 8

Q8.1 temperature of the water in a beaker is 50oC. what is it’s the value in the Fahrenheit scale.

Data

Temperature on Celsius scale = C = 50oc

To find

Temperature on Fahrenheit scale = ?

Solution:

We know that

F = 1.8C + 32

= 1.8 50 + 32

= 90 + 32

= 122℃

Q8.2 normal human body temperature is 98oF.convert it into Celsius scale and kelvin scale

Data

Temperature on Fahrenheit scale = F = 98℉

To find

Temperature on Celsius scale = C = ?

Solution:

We know that

C = 5
9
( F − 32)

= 5
9
( 98 − 32)

= 5
9
× 66

= 36.7℃

Also K = C + 273

= 36.7 + 273

= 309.7K



Q8.3

calculate the increase in the length of an aluminum bar 2m long when heated from 0oC to 20oC. if the
thermal coefficient of the linear expansion of the aluminum is 2.5 x 10-5 K-1

Data:

Length of rod = L° = 2m

Initial temperature =T°= 0℃= 273K

Final temperature =T = 20℃= 293K

Coefficient of linear expansion of aluminum = ∝ = 2.5 × 10−5K−1

To find

Increase in length = L - L° =?

L - L° = ∝ L° (T - T°)

=2.5 × 10−5× 2(293 - 273)

= 2.5 × 10−5×2 × 20

= 100 ×10−5

= 1 × 10−3m

= 1mm or 0.1cm

Q8.4 a balloon contains 1.2cm3 air at 15oc . find its volume at 40oc . thermal coefficient of volume
expansion of the air is 3.67 x 10-3K-1

Data:

Initial Voleum =V°= 1.2m3

Initial temperature =T0 = 15℃= 288K

Final temperature =T = 40℃= 313K

Coefficient of volume expansion of air = β = 3.67 × 10−3K−1



To find

Final volume =V=?

We know that

V = V° 1 + β(T − T°)

= 1.2 {1 + 3.67 ×10−3( 313 – 288)}

= 1.2 {1 + 3.67 ×10−3 ×( 25)}

= 1.2 {1 + 91.75 ×10−3}

= 1.2 {1 + 1.09175}

= 1.2 × 1.09175

=1.3101m3

Q8.5 how much heat is required to increase the temperature of 0.5Kg of water from 10oC to 65oC?

Data

Mass of water = m = 0.5kg

Specific heat of water = c = 4200 Jkg−1K−1

Initial temperature =t1 = 10℃= 283K

Final temperature =t2 = 65℃= 338K

Change in temperature =∆T = t1 − t2 = 338 - 283 = 55K

TO Find

Quantity of heat required = ∆Q

Solution:

We know that ∆Q = c m∆T

= 4200 × 0.5 × 55

= 115500J

Q8.6 an electric heater supplies heat at the rate of 1000J per second . how much time is required to
raise the temperature to raise the temperature of 200g of water from 20oC to 90oC

Data

Rate of flow of water = ∆Q
t
= 1000Js−1



Mass of water = m = 200g = 0.2kg

Specific heat of water = c = 4200 Jkg−1K−1

Initial temperature =t1 = 20℃= 293K

Final temperature =t2 = 90℃= 363K

Change in temperature =∆T = t1 − t2

= 363 - 293 = 70K

TO Find

Time required = t =?

Solution:

We know that ∆Q = c m∆T

Dividing both sides by t ∆Q
t
= c m∆T

t

1000 = 4200×0.2×70
t

t = 4200×0.2×70
1000

t = 58800
1000

= 58.8s

8.7 how much ice will melt by 50000J of heat ? latent heat of fusion of ice = 336000JKg -1

Data

Quantity of heat = ∆Qf= 50000J

Latent heat of fusion of ice = Hf = 336000Jkg−1

To find

Quantity of ice = m =?

Solution:

We know that ∆Qf = mHf

m = ∆Qf

mHf

= 50000
336000

= 0.1488kg

= 149g

Q8.8 find the quantity of heat needed to melt 100g of ice at -10oC.

(note: specific heat of ice is 2100 JKg-1 k-1, specific heat of water is 4200 JKg-1k-1, latent heat of fusion
is ice is 336000JKg-1)



Data

Mass of Ice = m = 100g = 0.1kg

Specific heat of ice = c1 = 2100 Jkg−1K−1

Specific heat of ice = c2 = 4200 Jkg−1K−1

Initial temperature of ice =t1 = − 10℃

Final temperature =t2 = 10℃

Latent heat of fusion of ice = Hf = 336000Jkg−1

To find

Quantity of heat = Q =?

Solution:

Heat required to change temperature of ice from − 10℃ to0℃ = ∆Q1

= mc1∆T

= 0.1 × 2100 × {0 – (-10)}

= 0.1 ×2100 × 10

= 2100J

Heat required to convert ice into water at 0℃ = ∆Q2

= mHf

= 0.1× 336000

= 33600J

Heat required to change temperature of water from 0℃ to10℃ = ∆Q3

= mc2∆T

= 0.1 × 4200 × {10 – 0}

= 0.1 ×4200 × 10

= 4200J

Total heat required = Q

= ∆Q1 + ∆Q2 + ∆Q3

= 2100 + 33600 + 4200

= 39900J



Q8.9how much heat is required to change 100g of water at 100oC into steam ? (latent heat of
vaporization of water is 2.26 x 106JKg-1)

Data

Mass of water = m = 100g = 0.1kg

Latent heat of vaporization of water = Hv = 2.26 × 106Jkg−1×Solution:

We know that ∆Qv = mHv

= 0.1× 2.26 × 106

= 2.26 × 105J

Q8.10 find the temperature of the water after passing 5g of steam at 100oC through 500g of water at
10oC

(specific heat of water is 4200 JKg-11K-1,latent heat of vaporization of water is 2.26 x 106 JKg-1)

Data

Mass of steam = m1 = 5g= 0.005kg

Temperature of steam = T1= 100℃= 373K

Mass of water = m2 = 500g= 0.5kg

Temperature of water = T2 = 10℃= 283K

Specific heat of water = c = 4200 Jkg−1

Final temperature of water = T

Latent heat of vaporization of ice = Hv = 2.26 × 106Jkg−1

To find

Final temperature of water = T

Solution:

Heat released by steam when it change into water at 373K = m1Hv

= 0.005× 2.26 × 106



= 11300J

Heat released by hot water when its temperature decreases from 373K to TK

= m1c∆T

= 0.005 × 4200 × {373 - T}

= 21 ( 373 - T)

= 7833 – 21T

Total heat released = 11300 + 7833 - 21T

= 19133 - 21T

Heat absorbed by cold water when its temperature increases from 283K to TK

= m2c∆T

= 0.5 × 4200 × {T - 283}

= 2100 × {T - 283}

= 2100T - 594300

According to law of heat exchange

Heat absorbed by cold body= Heat released by hot body

2100T – 594300 = 19133 - 21T

2100T + 21T = 19133 + 594300

2121T = 613433

T = 613433
2121

= 289.21K

T = (289.21 – 273 )℃

T = 16.21℃
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Unit # 10:

Drug Addiction
QUESTIONS:-
1. What are the effects of drug addiction?

Ans. Drug addiction is a very serious threat for any society. The people who are addicted to
drugs undergo many serious problems such as poverty, family and health problems.

2. What are the causes of drug addiction?

Ans. The tendency among the youth to use various forms of drugs and their total dependence on
drugs cause drug addiction. It is caused both by genetic and environmental factors. Bad peer
influence and troubled domestic background along with psychological issues of the person are
also responsible for this.

3. What important role do rehabilitation centers play to control drug addiction?

Ans. These centers strictly supervise the victims. Complete medical support and guidance is
provided to these people in these centers.

4. What is the role of counselling in preventing drug addiction?



Ans. Counselling plays a very vital important in the prevention of drug addiction. The sooner it
is done, the better it is for the victim. It is important for better motivation and adjustment even
after the recovery of the victims.

5. Why do families feel reluctant to take the drug victims to drug rehabilitation centers?

Ans. The families feel embarrassed to talk about it. They think it is forbidden to share this
problem with others, otherwise they will be declared an outcast.

6. What are the responsibilities of the families to ensure complete recovery of such
patients?

Ans. They must take such patients to proper and certified rehabilitation center and must continue
to critically watch and counsel the victim for better motivation and adjustment.

7. Are drug addicts aware of the dangers of drugs?

Ans. Yes, most of them are aware of the dangers of drugs but they become helpless and totally
dependent on drugs.

8. Which environmental factors are responsible for drug addiction?

Ans. Following environmental factors are responsible for drug addiction:

 Bad peer influence
 Troubled domestic background

9. What treatment is available at rehabilitation centres for drug addicts?

Ans. Following are the treatment available at rehabilitation centres for drug addicts:

 These centres strictly supervise and look after the drug addicts.
 Complete medical support and guidance is provided to these people in these centres.

10. What do you understand by the term “counselling”?

Ans. Counselling means the provision of professional assistance and guidance in resolving
personal or psychological problems.

Unit # 11:

Noise in the Environment
QUESTIONS:



1. How do you define noise pollution?

Ans. Noise pollution is defined as any form of noise that disrupts the normal functioning of life.

2. How is transport a source of noise pollution?

Ans. Transport causes a noise pollution. Different vehicles, aeroplanes, trains and ships produce
great noise. Moreover, the unwarranted honking by the drivers is also a source of noise pollution.

3. How is construction work a cause of noise pollution?

Ans. The construction work, in urban areas, is usually slow and time taking. Its grilling and
piercing sound is a source of noise pollution. It disturbs the general public and causes mental
fatigue.

4. How is use of technology causing noise pollution?

Ans. Use of technology is causing noise pollution. For example, unmonitored use of mobile
phones, electricity generators, music systems and TV, all become irritants from time to time

5. Why is noise dangerous for human health?

Ans. Noise is dangerous for human health. It gives birth to a number of diseases like
hypertension, hearing loss, depression and insomnia.

6. What kind of precautions may reduce noise coming from electronic devices?

Ans. We may reduce noise coming from electronic devices by taking care of their use and
avoiding frequent use of them.

7. What is normal functioning and how is it disrupted?

Ans. Normal functioning means the daily routine of human beings. It is disrupted by bad
environment like noise pollution.

8. How does technology increase noise pollution? What are technology – based irritants?

Ans. Careless and unnecessary use of technology increase noise pollution. Motor vehicles of all
kinds, factories, construction work, loud music, mobile phones and electric generator can be
counted some of the technology – based irritants.

9. What harmful effects noise pollution is causing on human health?



Ans. Noise pollution is causing aggression, hypertension and high stress level, hearing loss,
restlessness, depression, insomnia.

10. How can we cope with this serious issue?

Ans. We can cope with this serious issue if we ensure smooth traffic flow, block noise emitting
vehicles, use noise barriers, expedite construction work, prohibit the use of mobile phones in
offices, hospitals, academic institutions and develop a civic sense and responsibility among
people.

11. What are the main sources of noise pollution in Pakistan?

Ans. The main sources are transportation, construction sites, unruly traffic, loud music and use
of vehicles horns.

12. How does noise pollution affect students?

Ans. Students cannot pay attention to their studies in such a situation and are unable to
concentrate on their studies.

13. How can we cope with this serious issue?

Ans. We can cope with this serious issue by giving the awareness about the dangerous impacts
of noise pollution.

Unit # 12:

Three Days to See
QUESTIONS:
1. Who was Helen Keller?

Ans. Helen Adams Keller (June 27, 1880 – June 1, 1968) was an American author, political
activist and lecturer. She was the first deaf and blind graduate. She was courageous and became a
symbol of patience and success.

2. Describe the thought expressed by the author in the first paragraph.

Ans. The thought expressed in the first paragraph is that we should live each day as if we should
die tomorrow. Moreover, we should be chastened by the certainty of impending death.



3. What makes you feel that the author is sad and depressed?

Ans. She is sad and depressed at the fact that seeing people see little.

4. How do you get an impression that Helen Keller was a great admirer of nature?

Ans. Helen Keller would like to feel delicate, smooth leaf, the texture of a flower, cool water of a
stream and the other objects of nature present all around her. Therefore, we get the impression
that she was a great admirer of nature.

5. People who are deprived of sight not devoid of imagination. Discuss, referring to the
text.

Ans. Though Helen Keller was deprived of sight, yet she was blessed with great power of
imagination. She could visualize the beauties of nature all around her. She could imagine the
rising of the sun and the people present around her. This proves that the people deprived of sight
are not devoid of imagination.

6. “To me the pageant of seasons is an unending drama”, Comment.

Ans. This quotation actually shows Helen’s true love for nature which is quite generous and
abundant for her. To her, nature is a great source of pleasure which satisfies her aesthetic sense.
She feels delighted when she touches different objects of nature. She feels natural beauty through
her open fingers. She calls this activity a thrilling and unending drama.

7. How can we relate the underlined phrase “eat, drink and be merry” with this
paragraph?

Ans. The underlined phrase describes the attitude regarding life style. It means live life with vim
and vigour, but avoids to cross the moderate limits of life.

8. Why is arising of the sun so special for the author?

Ans. The arising of the sun is so special for the author that she wants to see miraculous change of
night into day. She also likes to watch the magnificent panorama of life with which the sun
awakens the sleeping earth.

9. How does the revelation of beauty mean to her?

Ans. To Helen Keller, the rising sun discloses the new horizons and delights to seeing people. So
the people should make the best use of their physical faculties to relish the revelation of beauty
spreading all around us.



10. Why has Helen Keller no time to waste in longings?

Ans. Helen Keller has no time to waste in regret for longing because there is so much to see.

11. What is the meaning of underlined phrase “a thrilling and unending drama”?

Ans. The underlined phrase means that the unending natural beauty, in all its glory, is an
everlasting source of inspiration and joy for those who are admirers.

12. Explain the difference between facilities and opportunities.

Ans.

 Facilities:

Facilities are the equipment, buildings, services, etc that are provided for a
particular activity or purpose.

 Opportunities:

Opportunities is a situation that makes it possible for you to do something that you
want to do.
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EXERCISE 8.1
1. Determine the quadrant of the coordinate plane in which the following points lie.
Ans:
(i) P(-4,3) IIquadrant
(ii) Q (-5, -2) IIIquadrant
(iii) P (2,2) Iquadrant
(iv) S(2,-6) IV quadrant
2. Draw the graph of each of the following .
(i) x=2 (ii) x=-3
(iii) y=-1 (iv) y=3
(v) y=0 (vi) x=0
(vii) y=3x (viii) -y=2x
(ix) 1 (x) 3y =5x
= x
2
(xi) 2x-y=0 (xii) 2x-y =2
(xiii) x-3y+1=0 (xiv) 3x-2y+1=0
(i) x=2
(ii) x=-3
(iii) y=32
(iv) y=3
(v) y=0
(vi) x=0
(vii) y=3x
Table for y=3x
(viii) -y=2x
Table for –y=2x
(ix) x=1/23
(x) 3y=5x
Table for 3y=5y = y=5x/3
(xi) 2x-y=0
Table for 2x-y=0
(xii) 2x-y=2
Table for 2x-y=2
Or 2x-2=y



Y=2x-2
(xiii) x-3y+1=0
Table for x-3y+1=0
or x+1=3y
3y=x+1
Y=x+1/34
(xiv) 3x-2y+1=0
or 3x+1=2y
2y=3x+1 = y=3x+1/2
Table for 3x-2y+1=0
Q.3 Are the following lines.
(i) Parallel to x-axis
(ii) Parallel to y –axis
(i) 2x -1=3
2x=3+1 = x=4/2=2
Parallel to y-axis
(ii) x+2=-1
= x = -1-2
x = -3
Parallel to y-axis
(iii) 2y+3=2
= 2y =2- 3
(iv) x+y=0
x=-y
Graph of x=-y is neither parallel to x-axis nor parallel to y-axis but passes through the
origin.
(v) 2x-2y=0
2x=2y
x=y
Graph of x=y is neither parallel to x-axis nor parallel to y-axis but passes through the
origin 5
Q.4 Find the value of m and c of the following lines by expressing them in the form
y=mx+c
(a) 2x+3y-1=0
3y=-2x+1
y=-2x+1/3
y=-2/3x+1/3
0y=mx+c
comparing (i) and (ii) we get
m=-2/3 and c=1/3
(b) x-2y=-2
x+2=2y
x+2/2=y or
y=x/2+2/2



y=1/2x+1
y=mx+c
Comparing (i) and (ii) we get
m=1/2 and c=1
(c) 3x+y-1=0
y=-3x+1
Also = mx+c
Comparing (i) and (ii) we get
m= -3 and c=1
(d) x-y=7
x-y=7
x-7=y
y=2x-7
comparing (i) and (ii)
m=2 and c=-7
(e) 3-2x+y=0
3-2x+y=0
y=2x-3
Also y=mx+c
Comparing (i) and (ii) we get
m=2 and c = -3
(f) 2x =y +3
2x =y+3
2x-3=y
y=2x-3
Also y=mx+c
Comparing (i) and (ii) we get
m=2 and c-3
Q.5 verify whether the following points lies on the line 2x-y1 0 or not.
(i) (2,3) x
2
, y
3
2x-y+1=0
2(2) -3 +1 =0
4-3+1≠ 0
1+1=0
2=0 But 2≠0
So point (2,3) does not lie on the line.
(ii) (0,0) ` x = 0, y = 0
2x-y+1=0
2(0)-0+1=0
0-0+1=0
1=0
But 1 ≠ 06



So point (0,0) does not lie on the line.
(iii) (-1,1) x= -1, y=1
2x-y+1 = 0
2(-1)-(1)+1-0=0
-2-1+1=0
-3+1=0
-2=0
But -2≠0
So point (-1,1) does not lie on the line.
(iv) (2,5) x=2, y=5
2x-y+1=0
2(2)-5+1=0
4-5+1=0
-1+1=0
0=0
Yes the point (2,5) lies on the line.
(v) (5,3) x=5, y=3
2x-y+1=0
2(5)-3+1=0
10-2=0
8-0
But 8≠ 0
Sp the point (5,3) does not lie on the line
REVIEW EXERCISE 10
Q.1 Which of the following are true and which are false.
i) A ray has two end points.
ii) In a triangle, there can be only one right angle.
iii) Three points are said to be collinear if they lie on same line.
iv) Two parallel lines intersect at a point.
v) Two lines can intersect only in one point.
vi) A triangle of congruent sides has non-congruent angles.
Ans i) False (ii) True (iii) True (iv) False (v) True (vi) False
Q.2 if ABC = LMN, then
(i) m<M=……………….
(ii) m<N= ……………….
(iii) m<A= ……………….
Ans: (i) m<M = m<B
(ii) m<N=m<C
(iii) m<A=m<L
Q.No.3 If ABC= LMN, then find the unknown x.
Ans: In congruent triangles corresponding angles are congruent. So x=60o7
Q.No.4 Find the value of unknowns for the given congruent triangle .
ABC=ACD
BD=DC



5m-3=2m+6
5m-2m=3+6
3m=9
m=9/3=3
Also
<ACD=<ABD
Angles opposite to congruent sides are congruent.
5
o
x+5
o
= 55
o
5
o
x = 55
o
-5
o
5
o
x = 50
o
x = 50
o
/5
o
x = 10
Q.No.5 If PQR = ABC, then find the unknowns.
Solution:
PQR=ABC
PQ=AB
x=3cm
BC=QR
Z=4cm
AC=PR
y-1cm=5cm
y=5cm+1cm
y=6cm
x=3cm, y=6cm, z=4cm8
UNIT NO.11
REVIEW EXERCISE 11
Q.No.3 Find the unknowns in the given figure.
Given: Let ABCD be the given figure with AB=CD
BC=AD
To find: The Values of m
o
,n



o
,x
o
and y
o
Solution:
Steps Reasons
ABCD is a parallelogram
m<A=75
o
m<n=75
o
m
o
+75
o
=180
o
m
o
=180
o
-750=105
o
x
o
=m
o
x
o
=105
o
x
o
+y
o
=180
o
y
o
=180
o
-x
o
y
o
=180
o
-105
o
y
o
=75



o
Given
Opposite interior angles
Supplementary angles
Supplementary angle
Q.No.4 If the given figure ABCD is a parallelogram, then find x, m
Given: ABCD is a parallelogram with angles as shown in figure.
To Find: The value of xo and mo
Solution:
Steps Reasons
11x
o
=55
o
x
o
=55
o
/11=5
o
x
o
=5
o
(5m+10)
o
+55
o
=180
o
(5m+10)
o
=180
o
-55
o
5m
o
+125
o
5m
o
=125
o
=10
o
5m
o
=115o
M
o



=23
o
Opposite angles of parallelogram
Int. Supplementary angles.
Q.No.5 The given figure LMNP is a parallelogram.
Find the value of m, n
Given: The parallelogram LMNP with lengths and angles as shown in figure.
To find: The values of mo and no
Solution:
Steps Reasons
4m+n=10……..(i)
8m-4n=8…..(ii)
Multiplying (i) by 4
16m+4n=40…..(iii)
Adding (i) and (iii)
8m-4n=8
16m+4n=40
24m=48
M=48/24=2
Put in (i)
4(2)+n=10
Opposite sides of IIgm
Opposite side of IIgm9
8+n=10
N=10-8 N=2
Q.No.6 In the question 5, sum of the opposite angles of the parallelogram is 110o, find
the remaining angles.
Given: LMNP is a parallelogram with angles 55o, 55o as shown
To find: All angles .
Steps Reasons
m<LPN+55o=180
m<LPN=125o
Also
m<M=m<P
m<M=125o
Interior angles
Opposite angle
M<P=125
UNIT 12
REVIEW EXERCISE 12
Q.No.2 If CD is right bisector of line segment AB, then
(i) mOA= ………………..(mOB)
(ii) mAQ= ………………. (mBQ)
Q.No.3 Define the following.
(i) Bisector of a line segment



(ii) Bisector of an angle
Ans:
(i) Bisector of a line segment.
A line passing through the midpoint of a line segment is called its bisector.
If a line passes through the mid=point of a line segment perpendicularly, then it is called
right bisector.
In fig. line is right bisector of AB.
(ii) Angle Bisector A ray that divides the angle into two equal parts is called angle
bisector of that angle.
In fig. ray OC is angle bisector of <AOB because < AOC = < BOC.
Q.No.4 The given triangle ABC is equilateral triangle and AD is bisector of angle
A, then find the values of unknown xo,yo and zo
ABC is an equilateral triangle
Its each angle =60o
x=60o
x+y=60 x=60o/2
but y=x x=30o
x+x=60 y=30o
2x=60 hence z=60o
Q.No.5 In the given congruent triangles LMO and LNO find the unknown x and m.
Solution: in the congruent triangle corresponding sides are equal so,
(i) mMO=mON
mMO=12unit(from Fig.mON=12)
(ii) Now, mLM=mLN
2x+6=18
2x=18-6
2x=1210
x=12/2=6
x=6
Q.No.6 CD is right bisector of the line segment AB.
(i) If mAB =6cm, then find the mAL and mLB
(ii) If mBD=4cm, then find mAD.
Given CD is a right bisector on the line segment AB.
To find (i) mAL, mLB when mAB =6cm
(ii) mAD when mBD =4cm
Construction join B with D.
Solution:
Statement Reasons
(i)mAL=mLB
mAL=1/2mAB
=1/2(6)
=3cm
mLB=mAL
=3cm



(ii) mAD=mBD
mAD=4cm
CD is a right bisector of AB
mAB=6cm
LD is a right bisector of AB
mBD=4cm
EXERCISE 13.1
Q.No.1 Two sides of triangle measure 10cm and 15 cm . which of the following
measure is possible for the third side?
(a) 5cm (b) 20cm
(c) 25cm (d) 30cm
Ans: 20cm
Q.No.2 O is an interior point of the ABC. Show that
mOA+mOB+mOC>1/2(mAB+mBC+mCA)
Given: O is the interior point of ABC.
To prove:
mOA+mOB+mOC>1/2(mAB+mBC+mCA)
Construction:j: Joint O with A,B and C
Proof:-
Statements Reasons
OAB
mOA+mOB>mAB………………..(i)
similarly
mOB+mOC>mBC…………….(ii)
and
mOC+mOA>mCA……………..(iii)
2mOA+2mOB+2mOC>mAB+mBC+mCA
2(mOA+mOB+mOC)>mAB+mBC+mCA
mOA+mOB+mOC>1/2(mAB+mBC+mCA)
Sum of two sides> third side
Sum of two sides> third side
Adding (I,(ii), and (iii)
Q.No.3 In the ABC, m<B=70o and m<C=45O. which of the sides of the triangle is
longest and which is the shortest?
Ans: Given a ABC in which
M<b=7011
M<C=45o
As m<A+m<B+m<C=180
m<A+70o+45o=180o
m<A+115o=180o
m<A=180o-115o
m<A=65o
As we know is a triangle , the side opposite to greater angle is longer than the side
opposite to smaller angle Here greatest angle is m<B=70o, so longest side is AC



Smallest angle is m<C=45o, so shortest side is AB.
Q.No.4 Prove that in a right-angled triangle, the hypotenuse is longer than each of
the other two sides.
Given: A right angled triangle ABC and its hypotenuse mAB.
To Prove:
mAB>mAC and mAB > mBC
Proof:
Statements Reasons
In ABC
mAB is hypotenuse
m<C90………(i)
m<A< 90o……(ii)
m<B<90o……..(iii)
m<C>m<A and m<C>m<B
mAB>mBC and mAB> mAC
Hence proved
Side opposite to right angle (give)
ABC is right angled triangle
Acute angles of right angled triangle
From(i), (ii), and (iii)
The side opposite to the greater angle is
longer than the side opposite to the smaller
angle .
EXERCISE 13.2
Q.No.1 In the figure, P is any point and AB is a line. Which of the following is the
shortest distance between the point P and the line AB.
Q.No.2 In the figure, P is any point lying away from the line AB. Then mPL will be
the shortest distance if:
(a) m<PLA=80o
(b) m<PLB=100o
(c) m<PLA=90o
Ans: (c)
Q.No.3 In the figure, FL is perpendicular to the line AB and mLN>mLM. Prove
that mPN>mPM.
Exercise 13 Review Exercise
Q.No.2 What will be angle for shortest distance from an outside point to the line?
Ans: The angle for shortest distance from an outside point to the line is 90o.
Q.No.3 If 13cm, 12cm and 5 cm are the lengths of a triangle, then verify that
difference of measures of any two sides of a triangle is less than the measure of the third
side.
Ans: (i) 13cm-12cm=1cm<5cm
(ii) 12cm-5cm=7cm<13cm12
(iii) 13cm-5cm=8cm<12cm
So it is verified that difference of any two sides of a triangle is less than the third side.



Q.No.4 If 10cm, 6cm and 8 cm are the lengths of a triangle, then verify that sumof
measures of two sides of a triangle is greater than the third side.
Ans. (i) 10cm+6cm=16cm>8cm
(ii) 6cm+8cm=14cm>10cm
(iii) 10cm+8cm=18cm>6cm
Q.No.5 3cm, 4cm, and 7cm are not the lengths of the triangle. Give the reason .
Ans: 3cm+4cm+7cm
The sum of length of two sides of a triangle should be greater than third side but
here sum of length of two sides is equal to the third side that is why given measurements
are not the lengths of triangle.
Q.No.6 If 3 cm and 4 cm are lengths of two sides of a right angle triangle then
what should be the third length of the triangle.
Ans: Let third side is x
Sum of two sides of a triangle is greater than third side i.e.
3cm+4cm > x
7cm> x
x<7cm
But for right angle triangle third possible side is 5cm because
x= √3
2
+4
2
x= √9+16
x= √25
x=5cm
Q.No.7 3cm, 6cm and 9 cm are not lengths of triangle . why?
Ans: 3cm+6cm=9cm
The sum of length of two sides of a triangle should be greater than third side but
here sum of length of two sides is equal to the third side that is why given measurements
are not the lengths of triangle.
EXERCISE 14.1
Q.No.1 in ABC, DE‖ BC
i) AD=1.5cm, BD=3cm
AE=1.3cm then find CE
(ii) If AD=2.4cm, AE=3.2cm
EC=4.8 cm, find AB
(iii) if AD=3/5,AC=4.8 cm find AE
DB
(iv) if AD=2.4 cm, AE=3.2 cm,
DE=2cm, BC=5cm, find
AB, DB, AC, CE
(v) If AD=4x-3, AE=8x-7
BD=3x-1, and CE=5x-3, find the value of x
Solution:
In ABC, DE‖ BC



(i) mAD = mAE
mBD mEC
1.5/3 = 1.3/mEC13
mEC = 3x1.3/1.5
= 2.6 cm
(ii) in ABC, DE‖ BC
mAB=mAD+mBD
let mDB=xcm
Now mAD= mAE
mDB mEC
2.4/x =3.2/4.8
x=4.8x2.4/3.2
x=48x24/10x32
x=3.6cm
mAB=mAD+mBD
mAB=2.4+3.6=6cm
(iii) mAD/mDB=3/5,mAC=4.8cm
In ABC, DE‖ BC
mAD/mDB=mAE/mEC
mAD/mDB=mAC-mCE/mCE
3/5=4.8-mCE/mCE
3mCE=5(4.8-mCE)
3mCE=24-5mCE
3mCE+5mCE=24
8mCE=24
mCE=24/8=3cm
mAE=mAC-mCE
= 4.8-3
mAE=1.8cm
EXERCISE 14.2
Q.No.1 In ABC as shown in the figure, CD bisects <C and meets AB at D, mBD is
equal to
(a) 5 (b) 16
(c)10 (d) 18
Ans: mBD/mDA=mBC/mCA
mBD/6=10/12
mBD=10/12x6=5
Q.No.2 In ABC as shown in the figure, bisects <C. If mAC=3, mCB=16 and
mAB=7, then find mAD and mDB.
Ans. mAd=x
mBD=7-x
mAD/mDB=mAC/mCB
x/7-x=3/6 = x/7-x=1/2
REVIEW EXERCISE 14



Q.2
(i) Define Ratio
Ratio:14
We define the ratio a:b=a/b( b≠0) as the comparison of two alike quantities a and
b, called the elements (terms) of a ratio. Elements must be expressed in the same units.
(ii) Define Proportion.
Proportion:-
Equality of two ratios is defined as proportion that is, if a:b=c:d, then a,b,c and d are said
to be in proportion.
(iii) Define Congruency of Triangles.
Congruency of Triangles:
Two triangles are said to be congruent written symbolically as “=” if there exists a
correspondence between them such that all the corresponding sides and angles are
congruent.
Mathematical form:
If in ABC DEF
AB=De <A=<D
If BC=EF and <B=<E
CA=FD <C=<F
Then ABC = DEF
(iv) Define similar Triangles.
Similar Triangle.
If in the correspondence two triangles all corresponding angles are equal and measures
of their corresponding sides are proportional then triangle are called similar triangle.
Mathematical form:
If in ABC ↔ DEF
<A= <D, <B=<E, <C=<F
And AB/DE=BC/EF=CA/FD
Then ABC DEF
Q.No.3 in LMN show in the figure, MN 11 PQ
i) if m LM=5cm, mLP=2.5cm, mLQ=2.3cm, then find mLN.
ii) IfmLM=6cm, mLQ=2.5cm, mQN-5cm, then find mLP
Given: in LMN, MN‖ PQ
mLM=5cm, mLP=2.5cm, mLQ=2.3cm
To Find: mLN=?
Solution:
Statements Reasons
mLN/mLQ=mLM/mLP
mLP/2.3cm=5cm/2.5cm
mLN=5x2.3/2.5cm
=5x23/25 cm
=4.6cm
PQ‖MN (Given)
Putting values



Q.No.4 in the shown figure, let mPA=8x-7, mPB=4x-3,
mAQ=5x-3, mBR=3x-1.
Find the value of x if AB ‖ QR
If AB ‖ QR then mPA/mAQ=mPB/mBR
Putting values
8x-7/5x-3 = 4x-3/3x-115
(8x-7) 3x-1) = (5x-3)(4x-3)
24x
2
-8x-21x+7=20x
2
-15x-12x+9
24x
2
-20x
2
-29x+27x+7-9=0
4x
2
-2x-2=0
2(2x2-x-1)=0
2x2-x-1=0 2≠0
2x2-2x+x-1=0
2x(x-1)+1(x-1)=0
2x=-1 or x=1
x=-1/2
Q.No.5 In LMN shown in the figure LA bisects <L. If mLN=4, mLM=6, mMN=8,
then find mMA and mAN.
Given: In LMN, LA is angle bisector of <L. mLM=6cm, mLN=4cm, m MN=8cm
To find: mMA=?, mAN=?
Solution:
Let mAN=xcm
mMA=8-xcm
mMA/mAN=mLM/mLN
Q.No.6 In Isosceles PQR shown in the figure, find the value of x and y.
Given:
In PQR, PQ= PR and PL QR
To find: x=? y=?
Solution:
Statements Reasons
In PRL and PQL
mPQ=mPR…..(i)
m<PLQ=m<PLR
mPL=mPL
PQL= PRL
mQL=mLR



6=y
Y=6cm
From (i) x=10cm
Isosceles triangle
Each of right angle
Common
H.S.= H.S
UNIT NO.15
EXERCISE 15
Q.No.1 Verify that the As having the following measures of sides are gith-angled.
(i) A=5cm, b=12cm, c=13cm
Solution
Let Length of one (longer) side is c=13cm
Length of other two sides are a =5cm, b=12 cm
c=13cm
c2=(13cm)
2
c2=169cm
2
……………….(i)
Now, a
2
+b
2
=(5cm)
2
+(12cm)
2
a
2
+b
2
=25cm
2
+144cm
2
a
2
+b
2
=169cm
2
…………………(ii)
From (i) and (ii)
c
2
=a
2
+b



216
By converse of Pythagoras theorem, equality verifies that given values are the lengths
of the sides of a right angled triangle.
(ii) A=1.5cm, b=2cm, c=2.5cm
Solution:
Let Length of one (longer) side is c=2.5cm
Length of other two sides are a =1.5cm, b=2cm
c=2.5cm
c
2
=(2.5cm)
2
c
2
=6.25cm
2
………………(i)
Now , a
2
+b
2
=(1.5cm)
2
+(2cm)
2
a
2
+b
2
=2.25cm
2
+4cm
2
a
2
+b
2
=6.25cm
2
……………….(ii)
From (i) and (ii)
c
2
=a
2
+b
2
By converse of Pythagoras theorem, equality verifies that given value are the lengths
of the sides of a right angled triangle.
(iii) A=9cm, b=12cm, c=15cm



Solution :
Let length of one (longer) side is c=15cm
Length of other two sides are a=9cm, b=12 cm
c=15cm
c
2
=(15cm)
2
c
2
=225cm
2
………………(i)
Now, a
2
+b
2
=(9cm)
2
+(12cm)
2
a
2
+b
2
=81cm
2
+144cm
2
a
2
+b
2
=225cm
2
…………….(ii)
From (i) and (ii)
c
2
=a
2
+b
2
By converse of Pythagoras theorem, equality verifies that given values are the lengths
of the sides of a right angled triangle.
(iv) A=16cm, b=30cm, c=34cm
Solution:
Let Length of one (longer) side is c=34cm
Length of other two sides are a=16cm, b=30cm, c=34cm
c
2



=(34cm)
2
c
2
=1156cm
2
……………(i)
Now, a
2
+b
2
=(16cm)
2
+(30cm)
2
a
2
+b
2
=256cm
2
+900cm
2
a
2
+b
2
=1156cm
2
…………….(ii)
From (i) and (ii)
c
2
=a
2
+b
2
By converse of Pythagoras theorem, equality verifies that given values are the lengths
of the sides of a right angled triangle .
Q.No.2 verify that a
2
+b
2
,a
2
-b
2
and 2ab are the measures of the sides of a right
angled triangle where a and b are any two real numbers (a<b)
Let Length of one (longer) side x=a
2
+b



2
Length of other two sides are, y=a
2
-b
2
, z=2ab
x
2
=(a
2
+b
2
)
2
x
2
=a
4
+b
4
+2a
2
b
2
………………..(i)
Now, y
2
+z
2
=(a
2
-b
2
)
2
+2ab)
2
y
2
+z
2
=a
4
+b
4
-2a
2
b
2
+4a
2
b
2



y
2
+z
2
=a
4
+b
4
+2a
2
b
2
…………(ii)
From (i) and (ii)17
x
2
=y
2
+z
2
By converse of Pythagoras theorem, equality verifies that a
2
+b
2
, a
2
-b
2
and 2ab are the
lengths of the sides of a right angled triangle.
Q.No.3 The Three sides of a triangle are of measure 8,x and 17 respectively. For
what value of x will it become base of a right angled triangle?
Solution: Consider a right angled triangle
If base = x
then Hypotenuse = 17
and Perpendicular= 8
In right angled ABC
By the Pythagoras theorem
(hyp)
2
=(base)
2
+(Perp)
2
(17)
2
=x
2
+(8)
2
289=x



2
+64
x
2
64=289
x
2
=289-64
x
2
=225
x= 225
As x is measure of side
So x=15 units.
Q.No.7 A plane is at a height of 300 m and is 500 m away from the airport as
shown in the figure. How much distance will it travel to land at the airport?
Here a be the position of plane and B be the position of airport.
mAC=300m
mBC=500m, mAB=?
Apply Pythagoras theorem on right angled triangle ABC.
(mAB)
2
= (mAC)
2
+(mBC)
2
=(300m)
2
+ (500m)
2
=90000m
2
+250000m
2
=340000m
2
(mAB)
2
=34x1000m
2
Taking square root both sides
So (mAB)= 34x√10000m
2
= √34x(100)
2
m
2
=100 √ 34m
So required distance is 100√ 34m
Q.No.8 A ladder 17 m long rests against a vertical wall. The foot of the ladder is



8m away from the base o the wall. How high up the wall will the ladder reach?
Ans: Let the height of ladder=x m
In right angled triangle by Pythagoras theorem.
(mAC)
2
=(mBC)
2
+(mAB)
2
(17m)
2
=(x)
2
+(8m)
2
289m
2
=x
2
+64m
2
x
2
=225m
2

Taking square root both sides18
√x
2
= √ 225m
2
x=15m
REVIEW EXERCISE 15
Q.No.2 Find the unknown value in each of the following figures.
By Pythagoras theorem
(hyp)
2
=(Perp)
2
+(Base)
2
x
2
=(4cm)
2
+(3cm)
2
x
2
=16cm+9cm
2
x
2



=25xm
2
taking square root both sides.
√ x
2
= √25cm
2
x=5cm
by Pythagoras theorem
(Hyp)
2
=(Perp)
2
+ (Base)
2
(10cm)
2
= (6cm)
2
+ (x)
2
100cm
2
=36cm
2
+x
2
100cm
2
- 36cm
2
=x
2
64cm
2
=x
2
x
2
=64cm
2
Taking square root both sides
√x
2
= √64cm
2
x=8cm
(iii) If two sides of a triangle are 5cm and 13cm , then find perpendicular of triangle.
By Pythagoras theorem
(Hyp)
2
=(Perp)



2
+(Base)
2
(13cm)
2
=(x)
2
+(5cm)
2
169cm
2
=x
2
+25cm
2
x
2
=144cm
2
Taking square root both sides.
√x
2
= √144cm
2
x=12cm
by pythagoras theorem
(hyp)
2
=(Perp)
2
+(Base)
2
(√2cm)
2
= (x)
2
+ (1cm)
2
(√2cm)
2
=(x)
2
+(1cm)
2
2cm
2
=x
2
+1cm
2
x
2
=1cm



2
taking square root both sides
x= √1cm
2
x=1cm
Q. What are the other two sides if the hypotenuse of an isosceles right triangle is√2 cm?
Solution: in isosceles right angled triangle two side are equal in length i.e. mAB=mBC=x19
By Pythagoras theorem
(Hyp)
2
=(Perp)
2
+(Base)
2
(√2)
2
=(x)
2
+(x)
2
2=x
2
+x
2
2=2x
2
2/2=x
2
1=x
2
√1=√x
2
x=1
Thus each of other side is of length 1cm.
UNIT NO.16
THEOREMS RELATEDWITH AREA
Q. Define Area of a Figure.
Ans: Area of a Figure:
The region enclosed by the bounding lines of a closed figure is called the area of
the figure. The area of a closed region is expressed in square units(say , sq.m or m2) i.e. a
positive real number.
Q. Define Triangular Region.
Ans: Triangular Region:
A triangular region is the union of a triangle and its interior i.e. , the three line
segments forming the triangle and its interior. By area of a triangle , we mean the area of
its triangular region.
Q. Define Rectangular Region.
Ans: A rectangular region is the union of a rectangle and its interior. By area of a
rectangle , we mean the area of its rectangular region.



Q. Define Altitude of the Triangle.
Ans: Altitude of the Triangle:
Useful Result: Triangles or parallelograms having the same or equal altitudes can
be placed between the same parallels and conversely.
REVIEW EXERCISE 16
Q. No.2 Find the area of the following.
(i) Area of rectangle =LxW (ii) Area of square =l
2
Area =6cmx
3
cm Area =(4cm)
2
Area = 18cm
2
Area = 16cm
2
(iii) Area of ‖
gm
= basex height (iv) Area of triangle =1/2 Base x
height
Area=8cm x4cm Area 1/2x1cmx10cm
Area =32cm
2
Area =1/2x10cm
2
Area =80cm
220
UNIT NO.17
Q.No.3 Define the following.
i) Define in Centre
Ans. Incentre:
The point of concurrency of the three bisectors of internal angles of a triangle is



Unit 9: Introduction to coordinate Geometry

Ex. 9.1

1. Find the distance between the following pairs of points.
(a) A(9,2),B(7,2) (d) A(-4, �),B(-4,-3)

By using distance formula By using distance formula

|AB|= ���윐 �� �� ����윐 ����
|AB|= ���윐 ��������윐 ����

Putting the values putting the values

= � 윐 ୡ � � �� 윐 ��� = 윐 t 윐 t � � � 윐 b 윐 � � 2

= 윐 � � � �i�� = i � �b � ���

= t � i = �b � �)2

= t = 3 + �
=2

(e) A(3,-11),B(3,-4) (f) A(0,0),B(0,-5)

By using distance formula by using the distance formula

Putting the values = ���윐 ��������윐 ����

= ��윐 ��������윐 ���� putting the values

= b 윐 b � � � 윐 t � ���� = i 윐 i � � � 윐 � 윐 i��

= i � � ���� = �i�� � � 윐 ���

= ���� = ��

= 7 = 5

2. Let P be the point on x-axis with x-coordinate a and Q be the point on y-axis with y-
coordinate b as given below.Find the distance between P&Q.
(i) a=9,b=7 (iii) a= -8, b=6

P(9,0),Q(0,7) P(-8,0),Q(0,6)
By using distance formula By using distance formula



= ���윐 ��������윐 ����
= ��� -��������윐 ����

Putting the values putting the values

= i 윐 � � � �� 윐 i�� = �i 윐 윐 � � � �i 윐 i��
= 윐 � � � ���� = � � � �i��
= tୡ � tୡ = it � bi
= ୡ� = �ii
= 7 � =10

(v) a= �,b=1 (vi) a=-9,b=-4

P( � ,0),Q(0,1) P(-9,0),Q(0,-4)

By using distance formula by using distance formula

|PQ|= ��윐 ��������윐 ����
|PQ|= ���윐 ��������윐 ����

Putting the values putting the values

= i 윐 �� � � �� 윐 i�� = �i 윐 윐 ୡ � � � 윐 t 윐 i��

= � � � = 윐 ୡ � � � 윐 t��
= b = �� � �i

= ୡ�

Ex.9.2
Q1.Show whether the points with vertices (5,-2),(5,4)and (-4,1)are vertices of an
equilateral triangle or an isosceles triangle .
Let the vertices be A(5,-2),B(5,4),C(-4,1)
First we find AB Now we find BC



By using distance formula by using distance formula

|AB|= ���윐 ��������윐 ����
|BC|= ���윐 ��������윐 ����

Putting the values putting the values

= � 윐 � � � �t � ��� = 윐 t 윐 � � � �� 윐 t��
= i � �i�� = 윐 ୡ � � � 윐 b��
= bi = �� � ୡ
= 6 = ୡi

Now we find CA
By using distance formula

|CA|= ���윐 ��������윐 ����

Putting the values

= 윐 t 윐 � � � �� � ���
= 윐 ୡ � � �b��
= �� � ୡ
= ୡi

As BC= CA , So this is an isosceles triangle.
Q2.Show whether or not the points with vertices (-1,1),(5,4),(2,-2)and (-4,1)form
a square.
Let the points are A(-1,1),B(5,4),C(2,-2) and D(-4,1)
By using distance formula,we will find AB,BC,CD and DA.

|AB|= ���윐 ��������윐 ����
|BC|= ���윐 ��������윐 ����

Putting the values putting the values

= � � � � � �t 윐 ��� = � 윐 � � � � 윐 � 윐 t��
= i � � �b�� = 윐 b � � � 윐 i��

= bi � ୡ = ୡ � bi
= t� = t�
= 3 � = 3 �

|CD|= ���윐 ��������윐 ���
�

Putting the values |DA|= ���윐 ��������윐 ���
�

= 윐 t 윐 � � � �� � ��� putting the values

= 윐 i � � �b�� = 윐 t � � � � �� 윐 ���



= bi � ୡ = 윐 b � � i
= t� = ୡ
= 3 � = 3

The three sides are not equal. Therefore it cannot form a square.
Q4.Use the distance formula to prove whether or not the points (1,1),(-2,-8)and
(4,10) lie on a straight line?
Let the points be A(1,1),B(-2,-8)and C(4,10)
By using distance formula we will find AB,BC and CA

|AB| = ���윐 ��������윐 ����
|BC|= ���윐 ��������윐 ����

Putting the values putting the values
= 윐 � 윐 � � � � 윐 � 윐 ��� = t � � � � ��i � ���
= 윐 b � � � 윐 ୡ�� = i � � �����
= ୡ � �� = bi � b�t
= ୡi = bii
= 3 �i = 6 �i

|CA| = ���윐 ��������윐 ����

= t 윐 � � � ��i 윐 ���
= b � � �ୡ��
= ୡ � ��
= ୡi
= 3 �i

Therefore BC= AB+AC.So A,Band C are collinear.
Q5.Find k, given that the point (2,k) is equidistant from (3,7)and (9,1).
Let the points are A(2,k) ,B(3,7) and C(9,1)
By using distance formula

|AB| = ���윐 ��������윐 ����
|AC|= ���윐 ��������윐 ����

Putting the values
Putting the values = ୡ 윐 � � � �� 윐 ͳ��

= b 윐 � � � �� 윐 ͳ�� = � � � � 윐 �����ͳ� � �ͳ
= � � � tୡ윐 � � ͳ � ͳ � = tୡ� � 윐 �ͳ � ͳ2
= �i윐 �tͳ � ͳ� = �i윐 �ͳ � ͳ�
As point A and B is equidistant from B and C , so AB=AC



�i 윐 �tͳ� ͳ� = �i 윐 �ͳ � ͳ�
Squaring both sides

50 -14k +k2 = 50 -2k +k2
-14k = -2k
-14k+2k= 0
-12k = 0
K = 0

Q8.Show that the points A(-6,-5),B(5,-5),C(5,-8) and D(-6,-8)are the vertices of a
rectangle.Find the lengths of the diagonals. Are they equal?
Let A(-6,-5),B(5,-5),C(5,-8)and D(-6,-8) are the vertices of the rectangle.
By using distance formula By using distance formula

|AB| = ���윐 ��������윐 ����
|BC|= ���윐 ��������윐 ����

= � � i � � � 윐 � � ��� = � 윐 � � � � 윐 � � ���
= ����� = 11 = � 윐 b�2

= 3

|CD| = ���윐 ��������윐 ����
|DA|= ���윐 ��������윐 ����

= 윐 i 윐 � � � � 윐 � � ��� =
윐 i � i � � � 윐 � � ���

= 윐 �� � � i = i � �b�2
= ��� = ୡ
= 11 = 3

Now we find length of diagonal AC. Now we find length of diagonal BD.
AC = � � i � � � 윐 � � ��� BD=
윐 i 윐 � � � 윐 � � ��

= �� � � �� 윐 b�� = 윐 �� � � � 윐 b��
= ��� � ୡ = ��� � ୡ
= �bi = �bi

So it is proved that AB=CD,BC= DA,AC= BD
Q10.Find the length of the diameter of the circle having centre at C(-3,6) and
passing through P(1,3).
P(1,3),C(-3,6)
Let r = PC is the radius of the circle.
r = 윐 b 윐 � � � �i 윐 b��

= 윐 t � � �b��
= �i � ୡ



= ��
= 5

Diameter = 2r = 2(5) = 10 Ans.
Ex. 9.3

Q1.Find the mid point of the line segment joining each of the following pairs of
points.
(i) A(9,2),B(7,2) (iii) A(-8,1) , B(6,1)

By using Mid point formula By using Mid point formula

=(
�����
�

,
�����
�

) = (
�����
�

,
�����
�

)

Putting the values Putting the values

= ( 윐��i
�

, ���
�
)

= (ୡ��
�
, ���

�
) = (윐�

�
, �
�
)

= (�i
�
, t
�
) = (-1 , 1)Ans.

= (8,2) Ans.

(v) A(-4,9),B(3,-4) (vi) A(0,0), B(0,-5)

By using Mid point formula By using Mid point formula

=(
�����
�

,
�����
�
) = (

�����
�

,
�����
�
)

= ( 윐t�b
�

, ୡ윐t
�
) = (i�i

�
� i윐�

�
)

= ( 윐�
�
, �
�

)Ans. = ( 0, -5/2)Ans.

Q2.The end point P of a line segment PQ is(-3,6) and its mid point is (5,8).Find
the coordinate of the end point Q.

Let M be the mid point and Q(x,y) the point Q.

5 = 윐b��
�

and 8 = i��
�

10= -3+x 16 = 6+y

x = 10+3= 13 y = 16-6 = 10 Ans. Q(13,10)

Q3. Prove that mid point of the hypotenuse of a right angle is equidistant from its three vertices



P(-2,5) ,Q(1,3),R(-1,0).

By using distance formula By using distance formula By using distance formula

PQ = � � � � � �b 윐 ��� QR= 윐 � 윐 � � � �i 윐 b�� RP= 윐 � � � � � �� 윐 i�

= b � � � 윐 ��� = 윐 � � � � 윐 b�� = 윐 ���� ����

= ୡ � t = t � ୡ = � � ��

= �b = �b = �i

Let M be the mid point of PR

M= (윐�윐�
�

, ��i
�
)

= (-3/2 , 5/2 )

MR= 윐 b
�
� � � � �

�
윐 i � MQ = 윐 b

�
� � � � � �

�
� b��

= �
�
� � � 윐 �

�
�� = 윐 �

�
� � � 윐 �

�
��

= �
t
� � ��

t
� = ��

t
�� �

t
�

= �i
�

= �i
�

MP= 윐 b
�
� � � � � �

�
윐 ���

= 윐 �
�
� �� 윐 �

�
��

= �
t
� ��

t
= �i

�
Therefore MP=MQ=MR Ans.



Q4. If O(0,0),A(3.0),B(3,5) are three points in the plane . Find M1M2 as the mid point of the line
segment AB and OB respectively. Find |M1M2|.

By using mid point formula By using mid point formula

M1= (
�����
�

,
�����
�
) M2 = (

�����
�

,
�����
�
)

= ( b�b
�
, i��

�
) = (i�b

�
, i��

�
)

= (6/2 ,5/2) = (3/2 ,5/2)

=( 3,5/2)

|M1M2|= b 윐 b
�
� � � �

�
윐 �

�
��

= �i 윐 b���

= � b
�
�� = 3/2 Ans.

Q5. Show that the diagonals of the parallelogram having vertices A(1,2) ,B(4,2),C(-1,-2) and
D(-4,-3)bisect each other .

AC and BD are the diagonals of the parallelogram ABCD.

Mid point of AC= (윐t�t
�

, 윐���
�

) = ( 0 , -1/2)

Mid point of BD= ( 윐t�t
�

, 윐b��
�

) = (0,-1/2)

As both diagonals have the same mid point . Therefore they bisect each other.

Unit no.10 Congruent Triangles



Review Ex. 10

Q2. If



St. Mary’s Convent Girls High School

Pakistan Studies Class: 9 P/G/B

Chapter no.4 “History of Pakistan”

Short answer Questions
1. How was the first Constitution Assembly formed?
A: When the days of freedom was approaching near, the Constitution Assembly elected

Quaid-e-Azam as the president on August 11, 1947. Chief Justice Sir Abdur Rashid took
oath from Quaid-e-Azam. Originally, the Constitution Assembly consisted of 69
members. Afterwards, this number was increased to 79.
Moulvi Tameez-ud-Din was appointed as the first speaker of assembly. A provisional
constitution was adapted with some modification in Indian Act of 1935 until the new
constitution was introduced.According to this constitution, Federal System was launched
in the country. Under Provisional Constitution, the Constitution Assembly that also had
the role of Central parliament was summoned for its first session.

2. Describe any four points of the land reforms introduced by Ayub Khan.
A: For land Reforms Ayub Khan set up Commission in 1959. This land Reforms
Commission was headed by Akhtar Hussain, Governor of West Pakistan. In the light of
recommendation made by this Commission. Land Reforms were announced. The main
points of these reforms are given below:
1. No person was to own more than 500 acres of irrigated or 1000 of non irrigated land. In

case of gardens and meadows, the landlord was given the right to own 150 acres more
land.

2. The landlords was given the right to transfer their excess land to the women if their
families and orphan children. However, the transfered land would not exceed the limit
of 250 acres of irrigated land and 500 acres of non irrigated land.

3. Present landlords would hand over the excess land to the Government. The landlords
would be compensated of their snatched lands within 25 years in installments.

4. The Jagirs were confiscated without any compensation. However, the Jagirs
endows/dedicated to educational, religious and charitable institution were exempted.

5. To increase the rare of Ijarah ( share of the landlord) was also banned.
3. Write five Islamic provisions of the Constitution of 1956.
A: Islamic provisions of the Constitution of 1956:
1. According to the Constitution, the name of the country was adopted as the Islamic
Republic of Pakistan.

2. It was declared that the President of the country shall be Muslim.



3. The Muslims shall be enabled to order their lives in the individual and collective sphere
in

accordance with the teachings and requirements of Islam.
4. No law would be passed or promulgated against the teachings of Islam or Sunnah.
5. Pakistan shall be made a welfare state.
6. Usury sale of alcohol and narcotics and prostitution shall be banned and were prohibited.

4. What were the targets of 2nd Five Year Development Plan?
A: The Second Five Year Development Plan:

Following were the main objectives and targets of this plan:
1. To attain an increase in national income by 24%.
2. To achieve an increase of about 10 % in per capita income.
3. To provide the opportunities of employment to 2.5 million people.
4. To get an increase of 14 % in agricultural output.
5. To increase Industrial production upto 14% in large scale as well as medium scale
industries.

6. To increase the industrial production of cottage and small scale industries upto 25%.
7. To increase exports at the rate of 3% annual increase.

5. What was the role of Pakistan Navy in the war of 1965?
A: Pakistan Navy remained fully alert during this war. Our Navy destroyed famous Indian

naval base Dwarka on the coast of Kathiawar and did a heroic achievement. When India
launched a sudden attack on a unit of Pakistan Navy, an Indian ship was sunk by

Pakistan
Navy in this fight while other ships retreated.

6. Write any five points of Muslim Family Laws Ordinance.
A: Then the President Ayub Khan promulgated Muslim Family Laws Ordinance 1961.

According to this Ordinance:U
1. All Muslim marriages were to be compulsorily registered in Union Councils.
2. Unwanted polygamy was abolished consent of the current wife and permission by
Chairman, Union Council was made mandatory for a second marriage.

3. The minimum age limit for marriage was fixed: 18 years for boy and 16 years for girl.
4. In case of divorce etc a period of 90 days was fixed as Iddat Period.
5. Orphaned grand-children may receive share from the property if their grandparents.
A group of religious scholars opposed this Ordinance. They declared that the Ordinance
was against the teachings of Islam. But with the passage of time, the majority of people
accepted it.

7. Describe two causes of the war 1965.
A: Two causes of the war 1965:



1. Pakistan was established against the wishes of Hindus, So they never accepted
Pakistan from the bottom of their hearts.Wonderful progress and stability of Pakistan
constituted a major concern for them. So, they starting launching aggressive actions
against Pakistan.

2. The Kashmir conflict is the real cause of the War 1965. India occupied Kashmir
against

the will of Kashmiri people. Kashmiri people are in favour of accession to Pakistan,
but India has always avoided holding the promised plebiscite in Kashmir in

accordance
with the resolution passed by Security Council. As a punishment of supporting
Kashmiri people morally and raising Kashmir issues all over the world.India imposed
war on Pakistan in 1965. Pakistani extended the moral support to the people of

Kashmir
and raised the Kashmir issue on all over world not like which India did.

8. What are the points for the future policies described in the Legal Framework Order?
A: Legal Framework Order:
The following points were decided for the future strategy:
1. Promotion of Islamic ways of living.
2. To practice the moral teachings of Islam.
3. To take steps to promote Islamic principles in the country.
4. To make arrangements to provide the education of Quran and Islamiyat to the Muslims.

9. What is meant by Union Council and Union Committee?
A: Union Council and Union Committee:

The lowest tier of Democracies was composed of Union Council. It is called Union
Council for rural areas and Union Committee for urban areas. 1000 to 1500 voter elected
member directly. He or she was called B.D member. They were responsible for the
sanitation, arrangements of the street lights and Passengers Houses, keeping death and
birth records.

10. How was the constitution of 1956 abrogated?
A: The constitution of 1956 was passed after long and untiring efforts of nine years but did

not last for long / proved to be short lived due to specific circumstances of Pakistan
which

included mutual difference and quarrels of the politicians, unfair interruption of Army
and

bureaucracy in democratic institutions, lack of able leadership and high handedness of
Governor General in the affairs of the Government.This constitution of 1956 was
implemented for 2 years and seven months only. In October 1958, the Commander in
Chief of Pakistan Army General Muhammad Ayub Khan dismissed the Government and
set up a military regime in the country. He assumed all the powers in his on hand. He



abrogated the Constitution of 1956. He dissolved all the assemblies. He took over the
charge of the offices of President and Chief Martial Law Administrator.

11. What is meant by single citizenship? Which areas of Muslim majority, India got as
a result of unjust division by Radcliffe?Y

A: The citizens of Pakistan shall have only a single citizenship. All the citizens shall be
called
Pakistanis. In America, the people enjoy dual citizenship i.e, one citizenship of Central
Government the other of the Government of the States. Whereas in Pakistan, the
constitution established the principle of single citizenship.
Radcliffe unjustly deprived Pakistan of some important areas. Three of the Tehsils of
Gurdaspur District i.e, Gurdaspur, Pathankot and Batala; Zira thetehsil of Ferozepur and
some other areas comprised of an overwhelming majority of population of Muslims were
handed over to India.

12. How was the Malakand division formed?
A: In N.W.F.P (khyber Pakhtunkawa ) Dir, Swat and Chitral maintained identity as
independent states even after the establishment of Pakistan; the people of the areas were
not enjoying such facilities as the people in West Pakistan were enjoying. So, General
Yahya Khan abolished the separate status of these states in 1969. These three states were
merged to form Malakand Division. It was made an administrative part of N.W.F.P ( KPK)

13.What do you mean by Economic Development?
A: The growth of an economy from backward to advanced economy is known as Economic
Development.It is a process through which such changes are introduced in economy by
adopting and utilizing modern, advanced, Capital and human resources s increase the
income of the country. The living standard of the people rises. The masses enjoy better
opportunities of education, health, employment and recreation.

14. Mention five targets of 3rd Five Year Development Plan.
A: The Third Five Year Development Plan:

Following were the main objectives and targets of this plan:
1. To enhance the pace of national development and to increase the gross domestic
product ( GDP) as much as 37%.

2. To increase per capita income at the rate of 20%.
3. To provide employment to 5.5 million people.
4. To accelerate the pace of agriculture growth and to increase it at the rate of 5%
annually.

5. To increase the Industrial growth at the rate of 13% annually.
6. To prefer to the establishment of basic industries.
7. To bring stability in the balance of payment by increasing the foreign exchange.



8. To make efforts to improve the basic facilities and to provide social security.
Objective Type

Choose the correct answer.
1. (d)1949
2. (b)56
3. (a) Mujeeb-ur-Rehman
4. (c) 1971
5. (b)313
6. (d)Urdu
7. (c) Pakistan Peoples party
8. (a) March 1969
9. (b)1959
10. (c) 1960-1965
11. (d) The World Bank
12. (c) 2Years 7 Months
13. (c) economic development
14. (d) 23rd September 1965
15. (c) 80 thousand

Match the columns.

Column A Column B
The death of Liaquat Ali Khan 1951
The Objectives Resolution 1949
Second Constitution of Pakistan 1962
End of One Unit in West Pakistan 1970
Ayub Khan's Martial Law 1958

Fill in the blanks.
1. Speaker
2. State of Jammu and Kashmir
3. 1947
4. 1949
5. 23rd March 1956
6. 1961
7. basic democratic
8. Indus Water



9. 1950
10. 1923

Long Questions.
1. Describe early problems of Pakistan.
A: pg # 93-96
2. Elaborate important points of Objectives Resolution.
A: pg# 101,102
3. Write salient features of the Constitution of 1962.
A: pg # 111-113
4. Describe the causes of the separation of East Pakistan.
A: pg # 125-128
5. Explain salient features of Legal Framework Order.
A: pg# 123
6. Narrate events of the Indo- Pak War 1965.
A: pg# 115-117
7. Explain the role of Quaid-e-Azam as first Governor General of Pakistan.
A: pg # 97-98
8. Describe different steps of the Basic Democracies System.
A: pg # 109-110
9. Elaborate the role of Liaquat Ali Khan as the first Prime Minister of Pakistan.
A: pg # 99-100
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 
 




 
























 














 








 





































 






































 




































 

 







 

 




















 








 









 

 














 















































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





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
 




















 



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 








 






  







 
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 



  




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

 










































































 














  




















 

























 











 




























































 



  





  
     

  













































 



















 

















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





































 




